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Electricity

Example

1. Four cells, each of e.m.f 1.5 V, are connected in series to form a battery.

Find the e.m.f of the bettery.

Watch Video Solution

2. For how many hours can a 100 W bulb be sued to have one unit of

electrical energy consumption ?

A. 10 hours

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_CZiWJ2i7j1vC
https://dl.doubtnut.com/l/_GI7FxkkHgUcE


B. 1 hours

C. 5 hours

D. 8 hours

Answer: A

Watch Video Solution

3. Four cells, each of e.m.f 1.5 V, are connected in series to form a battery.

Find the e.m.f of the bettery.

Watch Video Solution

4. For how many hours can a 100 W bulb be sued to have one unit of

electrical energy consumption ?

Watch Video Solution

https://dl.doubtnut.com/l/_GI7FxkkHgUcE
https://dl.doubtnut.com/l/_Q3naa57ylrtb
https://dl.doubtnut.com/l/_RwM0ogdrwhuR


Very Short Answer

5. Four cells, each of e.m.f 1.5 V, are connected in series to form a battery.

Find the e.m.f of the bettery.

Watch Video Solution

6. For how many hours can a 100 W bulb be used to have one unit of

electrical energy consumption ?

Watch Video Solution

1. Which is the most convenient form of energy?

Watch Video Solution

https://dl.doubtnut.com/l/_KqAB2Id3tPui
https://dl.doubtnut.com/l/_0nJ89LQdsNgs
https://dl.doubtnut.com/l/_68A24Xj4Fr4Z


2. When two bodies A and B are rubbed, they acquire charge by frication,

If the charge on positive, then the charge on B is .

Watch Video Solution

_______

3.  is a device used to detect the presence and the nature of the

charge on a body.

Watch Video Solution

_______

4.  is a used to protect builiding from lightning.

Watch Video Solution

_______

5. When charges are moving from one end to the other end of a

conductor, we say there is  in the conductor.

Watch Video Solution

_______

https://dl.doubtnut.com/l/_napZi0rfowej
https://dl.doubtnut.com/l/_LZv3IPLuantk
https://dl.doubtnut.com/l/_OTgneCZ1g3Mf
https://dl.doubtnut.com/l/_x84qOeNSfl8G


6.  acts as a positive pole and  as a negative pole in a dry

cell.

Watch Video Solution

_______ _______

7.  and  are two defects of voltaic cell.

Watch Video Solution

_______ _______

8. Four cells of e.m.f. 2.5 V each are connected in series to form a battery,

the e.m.f. of the battery is .

Watch Video Solution

_______

9.  or  is used to protect electrical appliances from

damages due to excess current.

W h Vid S l i

_______ _______

https://dl.doubtnut.com/l/_x84qOeNSfl8G
https://dl.doubtnut.com/l/_E5RsXt5oaj74
https://dl.doubtnut.com/l/_LjAQzx2sytEw
https://dl.doubtnut.com/l/_TazJLynk2QS3
https://dl.doubtnut.com/l/_pK45vM7UfRJA


Watch Video Solution

10. When electric current passes through a wire,  �eld is created

around it.

Watch Video Solution

_______

11. A glass rod P is oberserved to be attracting an ebonite rod Q , then

A. P and Q are unchanged bodies.

B. both P and Q are charged with identical charge.

C. both P and Q are charged oppositely.

D. either P is charged, or Q is charged. If both are charged, they are

opposite in nature.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_pK45vM7UfRJA
https://dl.doubtnut.com/l/_TKAUNw4xWjiz
https://dl.doubtnut.com/l/_dKO4N5Qwe6Ni


12. An uncharged body X is brought into contact with a negatively

charged body Y, then

A. X gains negatively charge.

B. Y loses negative charge.

C. negative charge gained by X is equal to the negative charge lost by

Y.

D. All the above.

Answer: D

Watch Video Solution

13. Which of the following is not a source of electrical energy ?

A. A cell

B. A bettery

C. An electric motor

https://dl.doubtnut.com/l/_ffFLl2vXqe8Z
https://dl.doubtnut.com/l/_AAdhd6XVUFVc


D. A generator

Answer: C

Watch Video Solution

14. Which of the following is a false statement about Leclanche cell ?

A. Electrolyte is a liquid.

B. Zinc rod and carbon rod acts as negative and positive electrodes.

C. It can be easily portable form place from place to place.

D. Dry cell is a modi�ed form of Leclanche cell.

Answer: C

Watch Video Solution

15. Which of the following is not a depolarizer ?

https://dl.doubtnut.com/l/_AAdhd6XVUFVc
https://dl.doubtnut.com/l/_pYaA72J1EhT6
https://dl.doubtnut.com/l/_biggywLopKzJ


A. Potassium dichromate

B. Copper sulphate

C. Mercury oxide

D. Manganese dioxide.

Answer: C

Watch Video Solution

16. Which of the following is not an electrical appliance ?

A. Washing machine

B. TV

C. Fire extinguisher

D. Water cooler

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_biggywLopKzJ
https://dl.doubtnut.com/l/_In0Juw5oTJis


17. Six identical cells are connected as shown in the cir-cuit. The total e.m.f

is  

A. 1.5 V

B. 4.5 V

C. 9 V

D. 0 V

Answer: B

Watch Video Solution

______

https://dl.doubtnut.com/l/_In0Juw5oTJis
https://dl.doubtnut.com/l/_QlMjEkukYG0p


18. Which of the following statements is false about using household

electrical appliances ?

A. Appliances with ISI mark is to be used.

B. Switches may be used with wet bands.

C. Fingers of metallic wires should not be kept in sockets.

D. To know the presence of current, tester is to be

Answer: B

Watch Video Solution

19. Electromagnet

A. Electric motor

B. Electric generator

C. Electric bell

D. Telegraph

https://dl.doubtnut.com/l/_e7vMf3vE7LG3
https://dl.doubtnut.com/l/_PRwxm1yBVmdf


Answer: C

Watch Video Solution

20. Which of the following do not use the pricinple of 'chemical e�ect of

electric current' ?

A. Telephone

B. Puri�cation of metals

C. Electroplating

D. Electro typing

Answer: A

Watch Video Solution

21. In which of the following electrical appliances the principle of the

magnetic e�ect of electric current is used?

https://dl.doubtnut.com/l/_PRwxm1yBVmdf
https://dl.doubtnut.com/l/_ytct5S7u9yyX
https://dl.doubtnut.com/l/_P2zR9iCP3QNJ


A. electric heater

B. electric motor

C. electric bell

D. Both (b) and (c )

Answer: D

Watch Video Solution

22. Choose the correct statement : - 

(A) In case of an electric cell, chemical energy is converted into electrical

energy. 

(B) combination of electric cells is called battery.

A. only A is true

B. only B is true

C. Both A and B are true

D. Both A and B are false

https://dl.doubtnut.com/l/_P2zR9iCP3QNJ
https://dl.doubtnut.com/l/_RWOvuOERQzjL


Answer: C

Watch Video Solution

23. A negatively charged body is connected to the ground, then choose

the correct statement. 

(A) It becomes positively charged. 

(B) Electrons �ow from the body to the ground.

A. Only A is true

B. Only B is true

C. Both A and B are true

D. Both A and B are false

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_RWOvuOERQzjL
https://dl.doubtnut.com/l/_JTrppIvMMrv6


24. A current carrying conductor can produce which of the following?

A. only heat

B. only megnetic �eld

C. Both heat and magnetic �eld

D. None of the above

Answer: C

Watch Video Solution

25. An electric motor converts

A. electrical energy into mechanical energy.

B. mechanial energy into electrical energy.

C. heat energy into electrical energy.

D. None of the above

https://dl.doubtnut.com/l/_MYNZxQqNR6XM
https://dl.doubtnut.com/l/_ma3J2dVEZ3gs


Answer: A

Watch Video Solution

26. Which of the following is a bad conductor of electricity ?

A. gold

B. copper

C. alcohol

D. living plant

Answer: C

Watch Video Solution

27. Pick out the symbol of a battery ?

A. 

https://dl.doubtnut.com/l/_ma3J2dVEZ3gs
https://dl.doubtnut.com/l/_0xDuhwJ4dHE0
https://dl.doubtnut.com/l/_A1QlRa4S1Ux8


B. 

C. 

D. 

Answer: B

Watch Video Solution

28. Unit of electromotive force is

A. volt

B. second

C. metre

D. 

Answer: A

Watch Video Solution

ms
− 1

https://dl.doubtnut.com/l/_A1QlRa4S1Ux8
https://dl.doubtnut.com/l/_iPtPr4BU8i6Z


29. Name the device that can be used to detect the presence of current in

a circuit

A. magnetic compasss

B. cell

C. an inverter

D. voltmeter

Answer: A

Watch Video Solution

30. Write the following steps in sequential order to explain the working

of an electric bell. 

(A) When current passes through the coil, it behaves like a magnet and

attracts (pulls) the iron strip. 

(B) No more does not coild behave as an electromag-net and the

https://dl.doubtnut.com/l/_iPtPr4BU8i6Z
https://dl.doubtnut.com/l/_034XBNRbr0Y2
https://dl.doubtnut.com/l/_1ueTBhMr2rqG


attraction between the coil and the iron strip is lost. Because of this the

iron strip gets back to its original position and touches the screw. 

(C ) The hammers connected to iron strip also moves and strikes the

gong because of which, sound is produced. 

(D) When the iron strip is pulled towards the coil, it loses contact with

the screw and the circuit becomes open circuit. 

(E). Once again the circuit is closed , and the above process is repeated.

A. ABCDE

B. EDCBA

C. BADEC

D. ACDBE

Answer: D

Watch Video Solution

31. What is the correct order of following steps for an experiment to

prove that like charges repel each other? 

https://dl.doubtnut.com/l/_1ueTBhMr2rqG
https://dl.doubtnut.com/l/_IRqgPZQhayiH


(A) Take two galss rods. 

(B) Now bring these two charged rods nearer. 

(B) Now bring these two charged rods nearer. 

(C) Charge them by rubbing each glass rod with a silk cloth. 

(D) The glass rods equal other showing that like charges repel each other.

A. ABCD

B. ACBD

C. DCBA

D. BDAC

Answer: B

Watch Video Solution

32. Match the column the entries given in Column A with the appropriate

ones in Column B. 

https://dl.doubtnut.com/l/_IRqgPZQhayiH
https://dl.doubtnut.com/l/_PnVLEq0ZIk9z


Watch Video Solution

https://dl.doubtnut.com/l/_PnVLEq0ZIk9z


33. Match the following columns

Watch Video Solution

34. How many types of chrges are there and what are they ?

Watch Video Solution

https://dl.doubtnut.com/l/_W1JlrQ4ARDdH
https://dl.doubtnut.com/l/_k3nIqx6rUONS


35. What is an electron ? State its relative mass and charge.

Watch Video Solution

36. What is an electroscope?

Watch Video Solution

37. When do we say that there is an electric current in a conductor ?

Watch Video Solution

38. What is an electric circuit ?

Watch Video Solution

39. What is a switch and how is it connected?

https://dl.doubtnut.com/l/_CLASMHgdgwES
https://dl.doubtnut.com/l/_JGBUKimjqCgU
https://dl.doubtnut.com/l/_T4QTbim8rszN
https://dl.doubtnut.com/l/_nFN01KZQpNRb
https://dl.doubtnut.com/l/_QoRIcAsi1f7V


Watch Video Solution

40. Name two di�erent ways of connecting components in an electric

circuit.

Watch Video Solution

41. How many types of sokets are in use and what are they ?

Watch Video Solution

42. What is a miniature circuit breaker ? Where is it used ?

Watch Video Solution

43. What is the e.m.f of the Bichromate cell ?

Watch Video Solution

https://dl.doubtnut.com/l/_QoRIcAsi1f7V
https://dl.doubtnut.com/l/_BDfmO9HE6pPT
https://dl.doubtnut.com/l/_ikizwru1OR4l
https://dl.doubtnut.com/l/_gNJb3HpwB45L
https://dl.doubtnut.com/l/_cXpA5zHQHxLy


44. How can we describe the force between two charged bodies ?

Watch Video Solution

45. Which charged particle is free to move within the body as well as from

one body to another body ?

Watch Video Solution

46. Distinguish between conductors and insulators.

Watch Video Solution

47. What any two sources of electrical energy.

Watch Video Solution

https://dl.doubtnut.com/l/_cXpA5zHQHxLy
https://dl.doubtnut.com/l/_5FnXGUnPC6ZI
https://dl.doubtnut.com/l/_cNAVqc4HT9gl
https://dl.doubtnut.com/l/_mbBuHlG5MVJx
https://dl.doubtnut.com/l/_BmOfQkAxhcmF
https://dl.doubtnut.com/l/_YgDTBmsQFLBA


48. What is a battery ?

Watch Video Solution

49. What is an electric generator .

Watch Video Solution

50. What is 'one unit' or 'one kilowatthour' of electrical energy ?

Watch Video Solution

51. What is a fuse ?

Watch Video Solution

52. What happends when current passes through an electrolyte ?

https://dl.doubtnut.com/l/_YgDTBmsQFLBA
https://dl.doubtnut.com/l/_o9EumwmxvFPZ
https://dl.doubtnut.com/l/_V2p7qrE1R22T
https://dl.doubtnut.com/l/_WZIKZTkEfQQq
https://dl.doubtnut.com/l/_vORdLR7MjPQr


Watch Video Solution

53. Why are thick wires used in fuses ?

Watch Video Solution

54. Which is the most convenient form of energy?

Watch Video Solution

55. When two bodies A and B are rubbed, they acquire charge by friction,

If the charge on A is negative, then the charge on B is .

Watch Video Solution

_______

56.  is a device used to detect the presence and the nature of the

charge on a body.

_______

https://dl.doubtnut.com/l/_vORdLR7MjPQr
https://dl.doubtnut.com/l/_dyil8u1EuIQy
https://dl.doubtnut.com/l/_I2ktnH8cGehg
https://dl.doubtnut.com/l/_16qxGfFbju20
https://dl.doubtnut.com/l/_Wd2rzweU7e3y


Watch Video Solution

57.  is a used to protect builiding from lightning.

Watch Video Solution

_______

58. When charges are moving from one end to the other end of a

conductor, we say there is  in the conductor.

Watch Video Solution

_______

59.  acts as a negative pole and  as a positive pole in a dry

cell.

Watch Video Solution

_______ _______

60.  and  are two defects of voltaic cell.

W t h Vid S l ti

_______ _______

https://dl.doubtnut.com/l/_Wd2rzweU7e3y
https://dl.doubtnut.com/l/_HxKgeCZOFAi3
https://dl.doubtnut.com/l/_I2Qp4DIEpbAx
https://dl.doubtnut.com/l/_m9GylPzvSfIx
https://dl.doubtnut.com/l/_vBfhinrSI653


Watch Video Solution

61. Four cells of e.m.f. 2.5 V each are connected in series to form a battery,

the e.m.f. of the battery is .

Watch Video Solution

_______

62.  or  is used to protect electrical appliances from

damages due to excess current.

Watch Video Solution

_______ _______

63. When electric current passes through a wire,  �eld is created

around it.

Watch Video Solution

_______

64. A glass rod P is oberserved to be attracting an ebonite rod Q , then

https://dl.doubtnut.com/l/_vBfhinrSI653
https://dl.doubtnut.com/l/_8n6hiElfyJHE
https://dl.doubtnut.com/l/_RBvJHR4zYi3g
https://dl.doubtnut.com/l/_qNpcFsGwFkWB
https://dl.doubtnut.com/l/_MgLCFLAefHNf


A. P and Q are uncharged bodies.

B. both P and Q are charged with identical charge.

C. both P and Q are charged oppositely.

D. either P is charged, or Q is charged. If both are charged, they are

opposite in nature.

Answer: D

Watch Video Solution

65. An uncharged body X is brought into contact with a negatively

charged body Y, then

A. X gains negatively charge.

B. Y loses negative charge.

C. negative charge gained by X is equal to the negative charge lost by

Y.

https://dl.doubtnut.com/l/_MgLCFLAefHNf
https://dl.doubtnut.com/l/_AWkzxKGl5RtZ


D. All the above.

Answer: D

Watch Video Solution

66. Which of the following is not a source of electrical energy ?

A. A cell

B. A bettery

C. An electric motor

D. A generator

Answer: C

Watch Video Solution

67. Which of the following is a false statement about Leclanche cell ?

https://dl.doubtnut.com/l/_AWkzxKGl5RtZ
https://dl.doubtnut.com/l/_PscbRb98uLZf
https://dl.doubtnut.com/l/_Yg5yXioEgE8p


A. Electrolyte is a liquid.

B. Zinc rod and carbon rod acts as negative and positive electrodes.

C. It can be easily portable form place from place to place.

D. Dry cell is a modi�ed form of Leclanche cell.

Answer: C

Watch Video Solution

68. Which of the following is not a depolarizer ?

A. Potassium dichromate

B. Copper sulphate

C. Mercury oxide

D. Manganese dioxide.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Yg5yXioEgE8p
https://dl.doubtnut.com/l/_xjSOR9QoggUh


69. What is the main purpose of earthing an electrical appliance ?

A. Washing machine

B. TV

C. Fire extinguisher

D. Water cooler

Answer: C

Watch Video Solution

70. Six identical cells are connected as shown in the cir-cuit. The total

e.m.f is  ______

https://dl.doubtnut.com/l/_xjSOR9QoggUh
https://dl.doubtnut.com/l/_MdosEa6uBqi4
https://dl.doubtnut.com/l/_lGKIApwo0XJm


A. 1.5 V

B. 4.5 V

C. 9 V

D. 0 V

Answer: B

Watch Video Solution

71. Which of the following statements is false about using household

electrical appliances ?

A. Appliances with ISI mark is to be used.

B. Switches may be used with wet bands.

C. Fingers of metallic wires should not be kept in sockets.

D. To know the presence of current, tester is to be

Answer: B

https://dl.doubtnut.com/l/_lGKIApwo0XJm
https://dl.doubtnut.com/l/_MRLkncVn1I5t


Watch Video Solution

72. Which of the following devices does not work on the principle of

magnetic e�ects of electric current?

A. Electromagnet

B. Electric motor

C. Electric generator

D. Telegraph

Answer: C

Watch Video Solution

73. In which of the following the priciple of 'chemical e�ect of electricity'

is not used ?

A. Telephone

https://dl.doubtnut.com/l/_MRLkncVn1I5t
https://dl.doubtnut.com/l/_of9R7a1w7gbq
https://dl.doubtnut.com/l/_OwP6LFRZtC7a


B. Puri�cation of metals

C. Electroplating

D. Electro typing

Answer: A

Watch Video Solution

74. Which of the following electrical appliances works on the principle of

the magnetic e�ect of electric current ?

A. electric heater

B. electric motor

C. electric bell

D. Both (b) and (c )

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_OwP6LFRZtC7a
https://dl.doubtnut.com/l/_4q7lY2HGXvIz


75. Choose the correct statement : - 

(A) In case of an electric cell, chemical energy is converted into electrical

energy. 

(B) combination of electric cells is called battery.

A. only A is true

B. only B is true

C. Both A and B are true

D. Both A and B are false

Answer: C

Watch Video Solution

76. A negatively charged body is connected to the ground, then choose

the correct statement. 

https://dl.doubtnut.com/l/_4q7lY2HGXvIz
https://dl.doubtnut.com/l/_EqZ8SETtmScl
https://dl.doubtnut.com/l/_Oyb7waEnZfOG


(A) It becomes positively charged. 

(B) Electrons �ow from the body to the ground.

A. Only A is true

B. Only B is true

C. Both A and B are true

D. Both A and B are false

Answer: A

Watch Video Solution

77. A current carrying conductor produces 

A. only feat

B. only megnetic �eld

C. Both heat and magnetic �eld

D. None of the above

______

https://dl.doubtnut.com/l/_Oyb7waEnZfOG
https://dl.doubtnut.com/l/_RXOlqT6xGpcK


Answer: C

Watch Video Solution

78. An electric motor converts

A. electrical energy into mechanical energy.

B. mechanial energy into electrical energy.

C. heat energy into electrical energy.

D. None of the above

Answer: A

Watch Video Solution

79. Which of the followingis a bad conductor of electricity

A. gold

https://dl.doubtnut.com/l/_RXOlqT6xGpcK
https://dl.doubtnut.com/l/_C8wqufsVVolV
https://dl.doubtnut.com/l/_cAhs2MoowZaS


B. copper

C. alcohol

D. living plant

Answer: C

Watch Video Solution

80. Which of the following is the symbol of a battery ?

A. 

B. 

C. 

D. 

Answer: B

W t h Vid S l ti

https://dl.doubtnut.com/l/_cAhs2MoowZaS
https://dl.doubtnut.com/l/_W6ZfvmkCV42z


Watch Video Solution

81. Unit of electromotive force is

A. volt

B. second

C. metre

D. 

Answer: A

Watch Video Solution

ms
− 1

82. The device that can be used to detect the presenceof current in a

circuit is 

A. magnetic compasss

B. cell

_____

https://dl.doubtnut.com/l/_W6ZfvmkCV42z
https://dl.doubtnut.com/l/_xCgdfJHXKLUw
https://dl.doubtnut.com/l/_R1mEWgugGcaF


C. an inverter

D. voltmeter

Answer: A

Watch Video Solution

83. Write the following steps in sequential order to explain the working of

an electric bell. 

(A) When current passes through the coil, it behaves like a magnet and

attracts (pulls) the iron strip. 

(B) No more does not coild behave as an electromag-net and the

attraction between the coil and the iron strip is lost. Because of this the

iron strip gets back to its original position and touches the screw. 

(C ) The hammers connected to iron strip also moves and strikes the

gong because of which, sound is produced. 

(D) When the iron strip is pulled towards the coil, it loses contact with

the screw and the circuit becomes open circuit. 

(E). Once again the circuit is closed , and the above process is repeated.

https://dl.doubtnut.com/l/_R1mEWgugGcaF
https://dl.doubtnut.com/l/_ATw5UyfX2PAW


A. ABCDE

B. EDCBA

C. BADEC

D. ACDBE

Answer: D

Watch Video Solution

84. Write the following steps in sequential order to prove that like

charges repal each other. 

(A) Take two glass rods. 

(B) Now bring these two charged rods nearer. 

(C) Charge them by rubbing each glass rod with a silk cloth. 

(D) The glass rods equal other showing that like charges repel each other.

A. ABCD

B. ACBD

https://dl.doubtnut.com/l/_ATw5UyfX2PAW
https://dl.doubtnut.com/l/_ZYMA1ZSOCkjc


C. DCBA

D. BDAC

Answer: B

Watch Video Solution

85. Match the column the entries given in Column A with the appropriate

ones in Column B. 

Watch Video Solution

https://dl.doubtnut.com/l/_ZYMA1ZSOCkjc
https://dl.doubtnut.com/l/_HUZvPZ092fxP
https://dl.doubtnut.com/l/_03M5gDfxuGti


86. Match the following columns

Watch Video Solution

87. How many types of combination of resistors are there and what are

they ?

Watch Video Solution

https://dl.doubtnut.com/l/_03M5gDfxuGti
https://dl.doubtnut.com/l/_X2mMYpUFi3sQ
https://dl.doubtnut.com/l/_EsgTwbL23JJ9


88. What is an electron ?

Watch Video Solution

89. What is an electroscope?

Watch Video Solution

90. When do we say that there is an electric current in a conductor ?

Watch Video Solution

91. What is an electric circuit ?

Watch Video Solution

92. What is a switch ?

W t h Vid S l ti

https://dl.doubtnut.com/l/_EsgTwbL23JJ9
https://dl.doubtnut.com/l/_M2Bcc6GYH6TU
https://dl.doubtnut.com/l/_bQfmvhbpqUnp
https://dl.doubtnut.com/l/_HwGbk3jnODv2
https://dl.doubtnut.com/l/_qdSlDQgV7uKc


Watch Video Solution

93. Name two di�erent ways of connecting components in an electric

circuit.

Watch Video Solution

94. How many types of sokets are in use and what are they ?

Watch Video Solution

95. What is a miniature circuit breaker ? Where is it used ?

Watch Video Solution

96. What is the e.m.f of the Bichromate cell ?

Watch Video Solution

https://dl.doubtnut.com/l/_qdSlDQgV7uKc
https://dl.doubtnut.com/l/_Sk8ttlC68o1t
https://dl.doubtnut.com/l/_eJagPe1yuae5
https://dl.doubtnut.com/l/_tgNkOTIcjRoJ
https://dl.doubtnut.com/l/_XMI3QUerrtvs


97. State Coulomb's law of electric force between two charged bodies.

Watch Video Solution

98. When two charged bodies at di�erent potentials are connected by a

conducting wire, then the charge �ows from one body to another body

Watch Video Solution

99. CONDUCTORS AND INSULATORS

Watch Video Solution

100. What any two sources of electrical energy.

Watch Video Solution

https://dl.doubtnut.com/l/_av9Ufso4azNH
https://dl.doubtnut.com/l/_c2NlF1LkaLOo
https://dl.doubtnut.com/l/_XELEcfcOrXDz
https://dl.doubtnut.com/l/_NRkv1y80I6uu


101. What is a battery ?

Watch Video Solution

102. What is the function of brushes in an electric generator ?

Watch Video Solution

103. What is 'one unit' or 'one kilowatthour' of electrical energy ?

Watch Video Solution

104. What is a fuse ?

Watch Video Solution

105. What happends when current passes through an electrolyte ?

https://dl.doubtnut.com/l/_fpDFPfsYqoWT
https://dl.doubtnut.com/l/_KYBnOCKA3VNw
https://dl.doubtnut.com/l/_ncXx7NZvuveD
https://dl.doubtnut.com/l/_5YPfesy8kIJP
https://dl.doubtnut.com/l/_f5bZ2afQKmZm


Short Type Qns

Watch Video Solution

106. Why are thick wires not used in fuses ?

Watch Video Solution

1. Describe how we can charge a body by friction.

Watch Video Solution

2. Write a short note on lighting conductor.

Watch Video Solution

3. Decribe Leclanche cell.

https://dl.doubtnut.com/l/_f5bZ2afQKmZm
https://dl.doubtnut.com/l/_FZOlfo3OodQK
https://dl.doubtnut.com/l/_7ub2l5qB0Qm2
https://dl.doubtnut.com/l/_CZ887NRki3kg
https://dl.doubtnut.com/l/_hL4iVQx1Qx9y


Watch Video Solution

4. Write a short note on parallel and series connections of cells.

Watch Video Solution

5. What are the precautions to be taken in using house-hold electrical

appliances?

Watch Video Solution

6. How can we charge a body by conduction ?

Watch Video Solution

7. Distiguish between open and closed circuites.

Watch Video Solution

https://dl.doubtnut.com/l/_hL4iVQx1Qx9y
https://dl.doubtnut.com/l/_3Ko099GaWAhy
https://dl.doubtnut.com/l/_ONmhJHSsQ9TA
https://dl.doubtnut.com/l/_miOuRMFv4yfv
https://dl.doubtnut.com/l/_D0InlogK0kma


8. Describe dry cell.

Watch Video Solution

9. Write a short note on (a)short circuit and (b) overload.

Watch Video Solution

10. Write the uses of electromagnets.

Watch Video Solution

11. Describe 'electroscope' and explain brie�y how it works.

Watch Video Solution

https://dl.doubtnut.com/l/_D0InlogK0kma
https://dl.doubtnut.com/l/_nzL3Pf9J7yEf
https://dl.doubtnut.com/l/_9EtuAPQHHo6q
https://dl.doubtnut.com/l/_tt9gIEBRLbhg
https://dl.doubtnut.com/l/_v5qaiumf65VM


12. Three cells of 1.5V, 2.5V and 3.5 V, respectively, are connected in series

to form a battery. Find the e.m.f of the battery.

Watch Video Solution

13. Describe a dynamo.

Watch Video Solution

14. What is an electomagnet ? How the stregenth of the electromagnet

can be increased ?

Watch Video Solution

15. Write the major defects in Voltaic cell.

Watch Video Solution

https://dl.doubtnut.com/l/_B0jpqEUv7yar
https://dl.doubtnut.com/l/_lnDWx7IxpTTb
https://dl.doubtnut.com/l/_yoCQbnR2F6bL
https://dl.doubtnut.com/l/_MIqZaIeDGdMK
https://dl.doubtnut.com/l/_Qigk6eI2Vx3Z


16. Describe how we can charge a body by friction.

Watch Video Solution

17. Write a short note on lighting conductor.

Watch Video Solution

18. Decribe Leclanche cell.

Watch Video Solution

19. Write a short note on parallel and series connections of cells.

Watch Video Solution

https://dl.doubtnut.com/l/_Qigk6eI2Vx3Z
https://dl.doubtnut.com/l/_KhVz7LvLNsV6
https://dl.doubtnut.com/l/_Mka3ZM7MWfRX
https://dl.doubtnut.com/l/_v2L0YqUxiLst


20. What are the precautions to be taken in using house-hold electrical

appliances?

Watch Video Solution

21. How can a body be charged by conduction ?

Watch Video Solution

22. Distiguish between open and closed circuites.

Watch Video Solution

23. Describe dry cell.

Watch Video Solution

https://dl.doubtnut.com/l/_c5xLqQjv9TRS
https://dl.doubtnut.com/l/_PrYSaakfRxtO
https://dl.doubtnut.com/l/_fgNVi8YLAeaB
https://dl.doubtnut.com/l/_NBWqNPeOy0hA


24. Write a short note on (a)short circuit and (b) overload.

Watch Video Solution

25. Write the uses of electromagnets.

Watch Video Solution

26. Describe 'electroscope' and explain brie�y how it works.

Watch Video Solution

27. Three cells of 1.5V, 2.5V and 3.5 V, respectively, are connected in series

to form a battery. Find the e.m.f of the battery.

Watch Video Solution

https://dl.doubtnut.com/l/_Ps5kuQtb8AuG
https://dl.doubtnut.com/l/_reTEdGV6L0aI
https://dl.doubtnut.com/l/_5smSop784QyT
https://dl.doubtnut.com/l/_5z2N8wkGENZJ


Essay Type Qns

28. Describe a dynamo.

Watch Video Solution

29. What is an electomagnet ? How the stregenth of the electromagnet

can be increased ?

Watch Video Solution

30. Write the major defects in Voltaic cell.

Watch Video Solution

1. What is 'electrical induction'?

Watch Video Solution

https://dl.doubtnut.com/l/_7E4v3lhrIW0I
https://dl.doubtnut.com/l/_eofXHwJ7kLye
https://dl.doubtnut.com/l/_grnlTOIvEuae
https://dl.doubtnut.com/l/_Z5GWQwSauNM4


2. Describe Voltaic cell and write the major defects of it.

Watch Video Solution

3. HEATING EFFECT OF ELECTRIC CURRENT

Watch Video Solution

4. Write a short note on electric bell.

Watch Video Solution

5. What are the advantages and disadvantage of con-necting bulbs in

parallel and in series ?

Watch Video Solution

https://dl.doubtnut.com/l/_Z5GWQwSauNM4
https://dl.doubtnut.com/l/_S39rYCBbWL9H
https://dl.doubtnut.com/l/_g42Fo7rqIZZh
https://dl.doubtnut.com/l/_GSmKxAstLQdX
https://dl.doubtnut.com/l/_2d9jGxb4l36M
https://dl.doubtnut.com/l/_c0qxBHuyG2GC


6. What is magnetic e�ect of electric current.

Watch Video Solution

7. Describe chemical e�ects of electric current with an example.

Watch Video Solution

8. Explain about Bichromate cell with a neat labelled diagram.

Watch Video Solution

9. Write a note on 'electrical induction'.

Watch Video Solution

10. Describe Voltaic cell and write the major defects of it.

https://dl.doubtnut.com/l/_c0qxBHuyG2GC
https://dl.doubtnut.com/l/_dKPuDW9XMei4
https://dl.doubtnut.com/l/_bHKqZVzwQDAX
https://dl.doubtnut.com/l/_hUYbLIHso0ZH
https://dl.doubtnut.com/l/_aZThYa91YBRr


Watch Video Solution

11. Describe with an example 'heating e�ects of electric current'.

Watch Video Solution

12. Write a short note on electric bell.

Watch Video Solution

13. What are the advantages and disadvantage of con-necting bulbs in

parallel and in series ?

Watch Video Solution

14. What is magnetic e�ect of electric current.

Watch Video Solution

https://dl.doubtnut.com/l/_aZThYa91YBRr
https://dl.doubtnut.com/l/_cMHD8RI6ilUm
https://dl.doubtnut.com/l/_uIDNKgcQyAjf
https://dl.doubtnut.com/l/_mgnZ9AFZdZk7
https://dl.doubtnut.com/l/_Lq1STgd9djSw


Concept Application

15. Describe chemical e�ects of electric current with an example.

Watch Video Solution

16. Explain about Bichromate cell with a neat labelled diagram.

Watch Video Solution

1. A neutral body means a body with no charged par-ticles on it.

Watch Video Solution

2. A neutral body means a body with no charged par-ticles on it.

Watch Video Solution

https://dl.doubtnut.com/l/_Lq1STgd9djSw
https://dl.doubtnut.com/l/_iwPSYorlmnHt
https://dl.doubtnut.com/l/_cP05HegrTYth
https://dl.doubtnut.com/l/_JPohLIzmbdMI
https://dl.doubtnut.com/l/_UI7riER6Fg0S


Level I

1. The charged particle in an atom that contributes positive charge is

'electron'.

Watch Video Solution

2. State True or False. 

Substances which allow charges to pass through them are called

conductors.

Watch Video Solution

3. A Switch is used to make or brake an electric circuit.

Watch Video Solution

https://dl.doubtnut.com/l/_UI7riER6Fg0S
https://dl.doubtnut.com/l/_8HrT1uJfuVd4
https://dl.doubtnut.com/l/_3ssNmkmJdWZZ
https://dl.doubtnut.com/l/_oWRcmFXFwxXc
https://dl.doubtnut.com/l/_7cOulGEJiXJX


4. The Zinc plate in a voltaic cell is usually coated with mercury to prevent

polarization.

Watch Video Solution

5. when bulbs are conneted to the same source, the brightness of bulb

connected in series is more than the brightness of identical bulbs

connected in parallel.

Watch Video Solution

6. In household connnections, no current passes through neutral wire

when the switch is o�.

Watch Video Solution

7. Connecting many devies to a single socket leads to 'short circuit'

Watch Video Solution

https://dl.doubtnut.com/l/_7cOulGEJiXJX
https://dl.doubtnut.com/l/_4Dljb4gwzFB5
https://dl.doubtnut.com/l/_16WHh7LPtQLt
https://dl.doubtnut.com/l/_3bulglqeib5t


8. Nichorome' is the material used to make heating elements.

Watch Video Solution

9. Electric bell works on 'heating e�ects of electric current'.

Watch Video Solution

10. Atom is considered neutral because it contains an equal number of

 and  charges.

Watch Video Solution

________ ______

11.  is a major component of an electric bell.

Watch Video Solution

______

https://dl.doubtnut.com/l/_3bulglqeib5t
https://dl.doubtnut.com/l/_vY9dzd7KUvMK
https://dl.doubtnut.com/l/_qVgNNSR1DiSw
https://dl.doubtnut.com/l/_ojLM9WsK6sGm
https://dl.doubtnut.com/l/_ujLrjD04ADcI
https://dl.doubtnut.com/l/_A1ZQ0NMuOM6V


12. Why is nichrome used as a heating element ?

Watch Video Solution

13. Materials that do not allow electric charges to �ow through then are

called .

Watch Video Solution

______

14. Lightning is a nautral phenomenon involving  particles.

Watch Video Solution

_______

15. In symbolic representation of an electric cell, the longer and shorter

vertical lines represent  and  terminal, respectively.

Watch Video Solution

______ ________

https://dl.doubtnut.com/l/_A1ZQ0NMuOM6V
https://dl.doubtnut.com/l/_cvzv6qPaLf2Y
https://dl.doubtnut.com/l/_cXwdYL8s8FKF
https://dl.doubtnut.com/l/_9QYcs9acA8R8
https://dl.doubtnut.com/l/_V4INXqk3L4IU


16. Mercury coated on zinc plate prevents the impuri-ties from coming

into contact with acid and prevents .

Watch Video Solution

______

17. ELECTRIC FUSE - A SAFETY DEVICE

Watch Video Solution

18. When bulbs are connected to the same source, the brightness of bulb

connected in parallel is  then the brightness of identical bulbs

connected in series.

Watch Video Solution

________

19. Electric heater works on the basis of  the electric current.

Watch Video Solution

_______

https://dl.doubtnut.com/l/_V4INXqk3L4IU
https://dl.doubtnut.com/l/_BQGCJi52PtQW
https://dl.doubtnut.com/l/_jvx2br8Aixy7
https://dl.doubtnut.com/l/_HAE93Dq3MSAD


20. If a glass rod is positively charged, then it consists of particles with

A. only positive charge.

B. only negative charge.

C. both negative and positive charges, but the num-ber of positively

charged particles are more than the number of negatively charged

particles.

D. both negative and positive charged bu the num-ber of negatively

charged particles are more than the number of positively charged

particles.

Answer: A::C::D

Watch Video Solution

21. A body can be charged by

https://dl.doubtnut.com/l/_HAE93Dq3MSAD
https://dl.doubtnut.com/l/_kupwbE1kEXLi
https://dl.doubtnut.com/l/_uxxVZ2E8zJuA


A. friction

B. induction

C. conduction

D. All the above.

Answer: D

Watch Video Solution

22. Which of the following is not a consumer of electrical energy ?

A. A generator

B. An electric motor

C. An electromagnet

D. A bulb

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_uxxVZ2E8zJuA
https://dl.doubtnut.com/l/_0zJVsTepV5ee


23. Find the false statement about a cell.

A. Group of cells is called battery

B. Longer line represents positive terminal

C. Shorter line represents negative terminal.

D. Cell is a major source of electrical energy.

Answer: D

Watch Video Solution

24. Three identical cells of e.m.f.  are connected in parallel. The total

e.m.f. of the combination is .

A. 1.5

B. 4.5

C. 0.5

1.5V

_____

https://dl.doubtnut.com/l/_0zJVsTepV5ee
https://dl.doubtnut.com/l/_oK41JGON7APk
https://dl.doubtnut.com/l/_sqdc9uWwUpBH


D. 3

Answer: A

Watch Video Solution

25. Three bulbs are connected in a circuit in an identi-cal way. When a

fourth bulb is also connectedto the same circuit in the same way,

brightness is reduced then the bulbs are connected in 

A. series

B. parallel

C. it can happen in both cases

D. It is not possible

Answer: A

Watch Video Solution

________

https://dl.doubtnut.com/l/_sqdc9uWwUpBH
https://dl.doubtnut.com/l/_dIzTYdTufMDa
https://dl.doubtnut.com/l/_0hKGZF92a1O0


26. How many hours must a 200 W bulb glow to con-sume 1 unit electrical

energy.

A. 1

B. 2

C. 5

D. 10

Answer: C

Watch Video Solution

27. The amount of heat produced in a heating element depends on

A. its length

B. its cross sectional area

C. nature of material

________

https://dl.doubtnut.com/l/_0hKGZF92a1O0
https://dl.doubtnut.com/l/_7QvEqd4dE55T


D. All the above.

Answer: D

Watch Video Solution

28. Which of the following statement is /are true about electromagnet ?

A. It works on the principal of 'magnetic e�ects of electric current'.

B. Electromagnets are used in electric bell.

C. Electromagnets are used to lift heavy loads.

D. All the above.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_7QvEqd4dE55T
https://dl.doubtnut.com/l/_H6cCXIAZjzKy


29. A neutral body gets charged when it brought into contact with a

charged body. This method of charg-ing a body is called.

A. charging by conduction

B. charging by friction

C. charging by Induction

D. None of the above

Answer: A

Watch Video Solution

30. Which of the following electrical appliances work on the principal of

the heating efect of electric current ?

A. Electric iron

B. Electric heater

C. Electric bulb

https://dl.doubtnut.com/l/_1ge3OQIMTdU6
https://dl.doubtnut.com/l/_OagVfJzBhbiN


D. All the above.

Answer: D

Watch Video Solution

31. Choose the correct statement(s) in case of a voltric cell. 

(A) Cathode used is Zn and anode used is copper. 

(B) The electrolyte used is dilute sulphuric acid.

A. Only A is true

B. Only B is true

C. Both A and B are true

D. Both A and B are false

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_OagVfJzBhbiN
https://dl.doubtnut.com/l/_74tsyhUpJOVG
https://dl.doubtnut.com/l/_FNqtQAIT5bXo


32. Choose the correct statement : 

When a positively charged body is placed on the ground. 

(A) the electrons �ow from the ground and neutral-ize the charge. 

(B) the electrons �ow from the ground and charge it negatively.

A. only A is true

B. only B is true

C. Both A and B are true

D. Both A and B are false

Answer: A

Watch Video Solution

33. A magnetic needle placed near a current carrying conductor de�ects

due to the

A. heating e�ect of electric current.

B. magnetic e�ect of electric current.

https://dl.doubtnut.com/l/_FNqtQAIT5bXo
https://dl.doubtnut.com/l/_HkFP0fxHvX0K


C. chemical e�ect of electrical current.

D. Both (b) and (c )

Answer: B

Watch Video Solution

34. An electric generator converts :

A. mechanical energy into electrical energy.

B. electrical energy into mechanical energy.

C. chemical energy into electrical energy.

D. chemical energy into mechanical energy.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_HkFP0fxHvX0K
https://dl.doubtnut.com/l/_fQl3yAuLBL55


35. Which of the following is a good conductor of electricity.

A. impure water

B. glass

C. ebonite

D. wood

Answer: A

Watch Video Solution

36. Given the symbol of an electric fuse used in circuit diagrams.

A. 

B. 

https://dl.doubtnut.com/l/_a58TOdrXDbcR
https://dl.doubtnut.com/l/_pWYOH15C5AVU


C. 

D. 

Answer: A

Watch Video Solution

37. Commercial Unit Of Energy

A. W h

B. kW h

C. Joule

D. None of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_pWYOH15C5AVU
https://dl.doubtnut.com/l/_B35bGnFQXCRv


Watch Video Solution

38. The bulbs in houses are connected in

A. parallel combination

B. series combination

C. series and parallel.

D. neither in series nor in parallel.

Answer: A

Watch Video Solution

39. The device used for producting electric current is called a :

A. speedometer

B. ammeter

C. voltmeter

https://dl.doubtnut.com/l/_B35bGnFQXCRv
https://dl.doubtnut.com/l/_ede9TefTpOe5
https://dl.doubtnut.com/l/_1Wpd2nwcC0Pp


D. kilowat hour meter

Answer: B

Watch Video Solution

40. Arrange the following steps in sequential order to demonstrate the

magnetic e�ect of the elctric cur-rent using magnetic compass. 

(A) Wind an insulated conducting wire around the magnetic compass

such that the axis of the coil is directed along east west direction and

con-nect the free ends of the wire to a cell through a switch. 

(B) Take a magnetic compass. 

(C ) When current �ows through the conducting wire, it behaves as a

magnet and de�ects the compass needle. 

(D) When the switch is closed, the magnetic nee-dle in the compass

de�ects from its initial posi-tion and when the switch is opend, the needle

comes back to its initial position.

A. BADC

https://dl.doubtnut.com/l/_1Wpd2nwcC0Pp
https://dl.doubtnut.com/l/_ZLP5NtLoSOke


B. CBAD

C. ACBD

D. ABCD

Answer: A

Watch Video Solution

41. Two electric bulbs of 100 W each is used for 10 hours in the month of

June. Write the following steps in sequential order to �nd the numbe of

units of electricity consumed in the month of June. 

(A) The number of units of electricity consumed by both bulbs in the

month of June is the total elec-trical energy consumed by bulbs expressed

in W h divided by 100 W h . 

(B) Note the rated power of each electric bulb, time of electrical

consumption of each bulb per day from the given data. 

(C ) We know, one electrical unit  or . 

(D) Calculate the amount of electrical energy con-sumed by both the

= 1kWh 1000Wh

https://dl.doubtnut.com/l/_ZLP5NtLoSOke
https://dl.doubtnut.com/l/_dj26ZqBxOmHl


bulbs in the month of June using, (sum of the electrical power of both the

bulb)  (time of consumption in one day)  days.

A. BACD

B. ABCD

C. BDCA

D. DCBA

Answer: C

Watch Video Solution

× × 30

https://dl.doubtnut.com/l/_dj26ZqBxOmHl


42. Match columns

Watch Video Solution

https://dl.doubtnut.com/l/_xC8Eu90OYJVT


43.   

Watch Video Solution

44. The charged particle in an atom that contributes positive charge is

'electron'.

Watch Video Solution

https://dl.doubtnut.com/l/_NmUieJBC8Eoa
https://dl.doubtnut.com/l/_BuxedD7Qgjig
https://dl.doubtnut.com/l/_NXsJ3B86GlmE


45. State True or False. 

Substances which allow charges to pass through them are called

conductors.

Watch Video Solution

46. what is the use of switch.

Watch Video Solution

47. The Zinc plate in a voltaic cell is usually coated with mercury to

prevent polarization.

Watch Video Solution

48. When bulbs are connected to the same source, the brightness of bulb

connected in parallel is  then the brightness of identical bulbs

connected in series.

________

https://dl.doubtnut.com/l/_NXsJ3B86GlmE
https://dl.doubtnut.com/l/_F9VnVmqyyF8N
https://dl.doubtnut.com/l/_pGlKhl0qE494
https://dl.doubtnut.com/l/_XSzPesZF1Ole


Watch Video Solution

49. In household connnections, no current passes through neutral wire

when the switch is o�.

Watch Video Solution

50. SHORT CIRCUITING

Watch Video Solution

51. CONDUCTORS AND INSULATORS

Watch Video Solution

52. Electric bell works on 'heating e�ects of electric current'.

Watch Video Solution

https://dl.doubtnut.com/l/_XSzPesZF1Ole
https://dl.doubtnut.com/l/_hKOfWgQ6upiY
https://dl.doubtnut.com/l/_MXBrLHoR1qRR
https://dl.doubtnut.com/l/_ka7VAbVfPEA0
https://dl.doubtnut.com/l/_aWWLLHRHoKIC


53. Atom is considered neutral because it contains an equal number of

 and  charges.

Watch Video Solution

________ ______

54. A major component of an electric bell is .

Watch Video Solution

______

55. Nichrome is the material used to make  elements.

Watch Video Solution

______

56. Materials that do not allow electric charges to �ow through then are

called .

Watch Video Solution

______

https://dl.doubtnut.com/l/_aWWLLHRHoKIC
https://dl.doubtnut.com/l/_tMRBWP8ADJqL
https://dl.doubtnut.com/l/_37ooF6FwyVmb
https://dl.doubtnut.com/l/_CWQSg5CEmQzk
https://dl.doubtnut.com/l/_AJL3LmFwy8ZW


57. Lightning

Watch Video Solution

58. In symbolic representation of an electric cell, the longer and shorter

vertical lines represent  and  terminal, respectively.

Watch Video Solution

______ ________

59. Mercury coated on zinc plate prevents the impuri-ties from coming

into contact with acid and prevents .

Watch Video Solution

______

60.  is a safety device that prevents excess �ow of current through

an appliance.

W t h Vid S l ti

_____

https://dl.doubtnut.com/l/_AJL3LmFwy8ZW
https://dl.doubtnut.com/l/_zrt20tM3iUWX
https://dl.doubtnut.com/l/_Dp3LOklQU1Ft
https://dl.doubtnut.com/l/_PE5Rvu2iHR8w
https://dl.doubtnut.com/l/_4VKWVPRYtqYB


Watch Video Solution

61. When bulbs are connected to the same source, the brightness of bulb

connected in parallel is  then the brightness of identical bulbs

connected in series.

Watch Video Solution

________

62. Electric heater works on the basis of  the electric current.

Watch Video Solution

_______

63. If a glass rod is positively charged, then it consists of particles with

A. only positive charge.

B. only negative charge.

C. both negative and positive charges, but the num-ber of positively

charged particles are more than the number of negatively charged

https://dl.doubtnut.com/l/_4VKWVPRYtqYB
https://dl.doubtnut.com/l/_58iCDAyHWSrl
https://dl.doubtnut.com/l/_w9oDa9DJ3PYd
https://dl.doubtnut.com/l/_GaFSdbeubSw7


particles.

D. both negative and positive charged bu the num-ber of negatively

charged particles are more than the number of positively charged

particles.

Answer: A::C::D

Watch Video Solution

64. A body can be charged by

A. friction

B. induction

C. conduction

D. All the above.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_GaFSdbeubSw7
https://dl.doubtnut.com/l/_K8d9BDPER2iv


65. Which of the following is not a source of electrical energy ?

A. A generator

B. An electric motor

C. An electromagnet

D. A bulb

Answer: A

Watch Video Solution

66. Find the false statement about a cell.

A. Symbol of a cell is 

B. Longer line represents positive terminal

C. Shorter line represents negative terminal.

https://dl.doubtnut.com/l/_K8d9BDPER2iv
https://dl.doubtnut.com/l/_oEMelOAT80As
https://dl.doubtnut.com/l/_gOsUrXtsw3Cd


D. Cell is a major source of electrical energy.

Answer: D

Watch Video Solution

67. Three identical cells of e.m.f.  are connected in parallel. The total

e.m.f. of the combination is .

A. 1.5

B. 4.5

C. 0.5

D. 3

Answer: A

Watch Video Solution

1.5V

_____

https://dl.doubtnut.com/l/_gOsUrXtsw3Cd
https://dl.doubtnut.com/l/_baRTE70aeU5x


68. CONDUCTORS AND INSULATORS

Watch Video Solution

69. How many hours must a 200 W bulb glow to con-sume 1 unit electrical

energy.

A. 1

B. 2

C. 5

D. 10

Answer: C

Watch Video Solution

70. The amount of heat produced in a heating element depends on

________

https://dl.doubtnut.com/l/_1r0HUOfGB1Zc
https://dl.doubtnut.com/l/_no8fdVwNv1G3
https://dl.doubtnut.com/l/_dAzejGnqYS9u


A. its length

B. its cross sectional area

C. nature of material

D. All the above.

Answer: D

Watch Video Solution

71. Which of the following statement is /are true about electromagnet ?

A. It works on the principal of 'magnetic e�ects of electric current'.

B. Electromagnets are used in electric bell.

C. Electromagnets are used to lift heavy loads.

D. All the above.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_dAzejGnqYS9u
https://dl.doubtnut.com/l/_H8SBwRkl0c3M


72. A neutral body gets charged when it brought into contact with a

charged body. This method of charg-ing a body is called.

A. charging by conduction

B. charging by friction

C. charging by Induction

D. None of the above

Answer: A

Watch Video Solution

73. Which of the following electrical appliances work on the principal of

the heating efect of electric current ?

A. Electric iron

B. Electric heater

https://dl.doubtnut.com/l/_H8SBwRkl0c3M
https://dl.doubtnut.com/l/_wmZuGVwO69LR
https://dl.doubtnut.com/l/_vJWB947AHunm


C. Electric bulb

D. All the above.

Answer: D

Watch Video Solution

74. Choose the correct statement(s) in case of a voltric cell. 

(A) Cathode used is Zn and anode used is copper. 

(B) The electrolyte used is dilute sulphuric acid.

A. Only A is true

B. Only B is true

C. Both A and B are true

D. Both A and B are false

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_vJWB947AHunm
https://dl.doubtnut.com/l/_qKV8oQcJfOCq


75. Choose the correct statement : 

When a positively charged body is placed on the ground. 

(A) the electrons �ow from the ground and neutral-ize the charge. 

(B) the electrons �ow from the ground and charge it negatively.

A. only A is true

B. only B is true

C. Both A and B are true

D. Both A and B are false

Answer: A

Watch Video Solution

76. A magnetic needle placed near a current carrying conductor de�ects

due to the

A. heating e�ect of electric current.

https://dl.doubtnut.com/l/_qKV8oQcJfOCq
https://dl.doubtnut.com/l/_yUeROsPnodFq
https://dl.doubtnut.com/l/_SR0LiKExSFzr


B. magnetic e�ect of electric current.

C. chemical e�ect of electrical current.

D. Both (b) and (c )

Answer: B

Watch Video Solution

77. An electric generator (Dynamo) converts

A. mechanical energy into electrical energy.

B. electrical energy into mechanical energy.

C. chemical energy into electrical energy.

D. chemical energy into mechanical energy.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_SR0LiKExSFzr
https://dl.doubtnut.com/l/_42eu8oGjvXpx
https://dl.doubtnut.com/l/_SgzLvqIlb5IR


78. Which of the following is a good conductor of electricity.

A. impure water

B. glass

C. ebonite

D. wood

Answer: A

Watch Video Solution

79. Given the symbol of an electric fuse used in circuit diagrams.

A. 

B. 

https://dl.doubtnut.com/l/_SgzLvqIlb5IR
https://dl.doubtnut.com/l/_cEEdRCwsiMuy


C. 

D. 

Answer: A

Watch Video Solution

80. What is the commercial unit of electrical energy ? Represent it in

terms of joules.

A. W h

B. kW h

C. Joule

D. None of these

Answer: B

https://dl.doubtnut.com/l/_cEEdRCwsiMuy
https://dl.doubtnut.com/l/_t096NL6eVjfV


Watch Video Solution

81. The bulbs in houses are connected in

A. parallel combination

B. series combination

C. series and parallel.

D. neither in series nor in parallel.

Answer: A

Watch Video Solution

82. The device used to measure electric current in a cir-cuit is called 

A. speedometer

B. ammeter

C. voltmeter

_____

https://dl.doubtnut.com/l/_t096NL6eVjfV
https://dl.doubtnut.com/l/_lrD8vGzFRreL
https://dl.doubtnut.com/l/_CAooafSM1hhi


D. kilowat hour meter

Answer: B

Watch Video Solution

83. Arrange the following steps in sequential order to demonstrate the

magnetic e�ect of the elctric cur-rent using magnetic compass. 

(A) Wind an insulated conducting wire around the magnetic compass

such that the axis of the coil is directed along east west direction and

con-nect the free ends of the wire to a cell through a switch. 

(B) Take a magnetic compass. 

(C ) When current �ows through the conducting wire, it behaves as a

magnet and de�ects the compass needle. 

(D) When the switch is closed, the magnetic nee-dle in the compass

de�ects from its initial posi-tion and when the switch is opend, the needle

comes back to its initial position.

A. BADC

https://dl.doubtnut.com/l/_CAooafSM1hhi
https://dl.doubtnut.com/l/_RJnxKbJonTM9


B. CBAD

C. ACBD

D. ABCD

Answer: A

Watch Video Solution

84. Two electric bulbs of 100 W each is used for 10 hours in the month of

June. Write the following steps in sequential order to �nd the numbe of

units of electricity consumed in the month of June. 

(A) The number of units of electricity consumed by both bulbs in the

month of June is the total elec-trical energy consumed by bulbs expressed

in W h divided by 100 W h . 

(B) Note the rated power of each electric bulb, time of electrical

consumption of each bulb per day from the given data. 

(C ) We know, one electrical unit  or . 

(D) Calculate the amount of electrical energy con-sumed by both the

= 1kWh 1000Wh

https://dl.doubtnut.com/l/_RJnxKbJonTM9
https://dl.doubtnut.com/l/_LTUbIGe54I4p


bulbs in the month of June using, (sum of the electrical power of both the

bulb)  (time of consumption in one day)  days.

A. BACD

B. ABCD

C. BDCA

D. DCBA

Answer: C

Watch Video Solution

× × 30

https://dl.doubtnut.com/l/_LTUbIGe54I4p


85. Match columns

Watch Video Solution

https://dl.doubtnut.com/l/_olkmZmA5wv0j


Level Ii

86.   

Watch Video Solution

1. Three batteries are connected as shown in the �gure. 

Then the total emf in the circuit is  V. ____

https://dl.doubtnut.com/l/_pYn1mE1u49KF
https://dl.doubtnut.com/l/_9vCoBGxIQjGO


A. 3

B. 4

C. 7

D. 14

Answer: C

Watch Video Solution

2. Three identical bulbs are connected as shown in �g-ure. Choose the

correct statement. 

https://dl.doubtnut.com/l/_9vCoBGxIQjGO
https://dl.doubtnut.com/l/_8LEyDW2Glg7z


A. All bulbs are in a series combination.

B. If bulb R is removed, bulb P and Q will still glow.

C. The total e.m.f in th circuitis 40 V.

D. The given circuit is an open circuit.

Answer: A

Watch Video Solution

3. A positively charged body is brought in contact with the cap of gold

leaf electroscope. Whose strips are netural , then

https://dl.doubtnut.com/l/_8LEyDW2Glg7z
https://dl.doubtnut.com/l/_SFuD4LEDm3o2


A. postively charge �ows from the body to the strips and both the

strips acquire positive charge.

B. due to like charged on strips , they arrract each other.

C. if a positively charged body is removed the gap between the strips

decreases.

D. Both (a) and (c ).

Answer: A

Watch Video Solution

4. Choose the correct statement: 

When the same current(i) �ows through tow circuits as shown in the

�gures, then (assume that all bulbs are identical) 

(A) bulbs in �rst combination glow with more brightness. 

(B) bulbs in second combination glow with more brightness. 

https://dl.doubtnut.com/l/_SFuD4LEDm3o2
https://dl.doubtnut.com/l/_5Wvr7gUdKcdb


(C) bulbs in both the combination glow with equal brightness. 

A. Only A is true

B. Only B is true

C. Both A and B are true

D. Cannot be determined

Answer: A

Watch Video Solution

5. What happens when a glass rod is rubbed against a silk cloth?

A. the glass and actuires a positive charge due to loss of electrons.

https://dl.doubtnut.com/l/_5Wvr7gUdKcdb
https://dl.doubtnut.com/l/_0NbzWZ5oTs42


B. the silk cloth acquires negative charges due to gain of electrons.

C. if these two bodies are again brought in contact the net charge on

them is zero.

D. All the above.

Answer: D

Watch Video Solution

6. A magnet is brought close to a current carrying con-ductor as shown in

�gure, then 

https://dl.doubtnut.com/l/_0NbzWZ5oTs42
https://dl.doubtnut.com/l/_4eEcvJShBYsR


A. it will be repelled by the conductor.

B. it will be attracte by the conductor

C. it will not show any e�ect.

D. it will be just de�ected.

Answer: D

Watch Video Solution

7. Three dry cells are connected as shown in the

 �gure. If e.m.f

of each cell is 2 V, then the e.m.f. of the combination is  V.

A. 2

B. 6

C. 3

_____

https://dl.doubtnut.com/l/_4eEcvJShBYsR
https://dl.doubtnut.com/l/_jvee0XrJ3LCg


D. 4

Answer: B

Watch Video Solution

8. Choose the correct statement about the given circuit: Three identical

bulbs are connected as shown in the �gure. 

A. Bulbs A and B are in parallel with bulb C.

B. The potential (e.m.f) in the circuit is 60 V.

https://dl.doubtnut.com/l/_jvee0XrJ3LCg
https://dl.doubtnut.com/l/_nusyM6qRRmdk


C. When switch 'S' is turned on all bulbs glow with the same

brightness.

D. Both (a) and (b)

Answer: D

Watch Video Solution

9. What will happen to the strips of a positively charged electroscope

when a positively charged and another negtively charged bodies with

equal magnitude of charge are brought simultaneously in contact with

the cap of a positively charged electroscope?

A. move apart.

B. come closer.

C. remains une�ected

D. Cannot be determined

https://dl.doubtnut.com/l/_nusyM6qRRmdk
https://dl.doubtnut.com/l/_fw12wbFJB5Vt


Answer: B

Watch Video Solution

10. When a neutral body is brought closer to a negatively charged body,

then

A. it becomes positively charged.

B. the net charge on it is zero

C. it consists of equal positive and negative charge.

D. Both (a) and (c ).

Answer: D

Watch Video Solution

11. What happens when a current carrying metallic comb is placed close

to small iron �lings?

https://dl.doubtnut.com/l/_fw12wbFJB5Vt
https://dl.doubtnut.com/l/_EZsCQ4EsL1it
https://dl.doubtnut.com/l/_oKR3ailaXbD1


A. iron �lings will �y away from the comb, when switch is turned o�.

B. iron �lings align in the direction of the magentic �eld produced

around the metallic comb.

C. iron �lings wil be attracted by the comb.

D. Both (a) and (b)

Answer: B

Watch Video Solution

12. (a) Two charged bodies, A and B are suspended from a �xed point with

the help of silk threads as shown in the �gure. If A is positively charged

can we identify the nature of charge on 'B' ? 

https://dl.doubtnut.com/l/_oKR3ailaXbD1
https://dl.doubtnut.com/l/_84FXEAuBB8oS


  

(b) A negatively charged conducting sphere A and a neutral sphere B are

kepton insulating stands and brought cose to each other. The charge

distri-bution is as shown in the �gure. 

Is B charged ? What type of force exists between A and B ?

Watch Video Solution

13. Raghavan found a metallic rod AB and a glass rod CD both positively

charged and placed on an insulat-ing table. He wanted to know what

would happen to the charges on AB and CD if he touched both the rod at

A and C ? Discuss. 

https://dl.doubtnut.com/l/_84FXEAuBB8oS
https://dl.doubtnut.com/l/_HeFYQueUNbM9


Watch Video Solution

14. Two identical, small metallic shpheres A and B are placed side by side

on an insultaing smooth table as shown in the �gure. If A is positively

charged and held �xed with the table , discuss the motion of B. 

Watch Video Solution

15. Observe the circuit and state whether the cells are connected in series

or parallel. If each cell is of e.m.f. , then �nd the total e.m.f applied1.5V

https://dl.doubtnut.com/l/_HeFYQueUNbM9
https://dl.doubtnut.com/l/_msg2alFbUtma
https://dl.doubtnut.com/l/_YI1yr50FUqgx


across the bulb connected. 

Watch Video Solution

16. Three identical cells of e.m.f.  are given. Find how we can arrange

them to get a total e.m.f. of 

(a) , (b) , (c ) .

Watch Video Solution

1.5V

1.5V 3V 4.5V

17. Prahar took two identical heating elements and con-nected them to a

battery in two di�erent ways as shown in the �gure. When he switched

ON the switch, is the heat developed in each element the same or

https://dl.doubtnut.com/l/_YI1yr50FUqgx
https://dl.doubtnut.com/l/_sKWgXqc5sOhb
https://dl.doubtnut.com/l/_nG2Yfe7tZsvQ


di�erent in both the cases ? 

Watch Video Solution

18. Identify whether the following circuits are open or closed. 

Watch Video Solution

https://dl.doubtnut.com/l/_nG2Yfe7tZsvQ
https://dl.doubtnut.com/l/_2phy0BWudx00


19. What is the nature of materials used to make the '�lament' of an

electric bulb and the 'fuse wire' used in electric fuse ? Compare them.

Watch Video Solution

20. De�ne live and neutral wires.

Watch Video Solution

https://dl.doubtnut.com/l/_2phy0BWudx00
https://dl.doubtnut.com/l/_q2xYAvt709YY
https://dl.doubtnut.com/l/_23BjqdEJoE9c


21. Represent the connections shown below by a circuit diagram. 

Watch Video Solution

22. We observe the bulb glowing when the switch is 'ON'. Can we

conculde that charges instantly move from the 'switch' to the bulb ?

Discuss.

Watch Video Solution

https://dl.doubtnut.com/l/_WTryF2hozR53
https://dl.doubtnut.com/l/_a2H8CIvuQv9d
https://dl.doubtnut.com/l/_Gar6IeLeEwZR


23. What is a depolarizer and how does it work ?

Watch Video Solution

24. Gourang made an electric circuit with three bulbs  and  a

cell and two switches  and  as shown in �gure. He notes his

observation when 

  

(a)  is closed and  is open,  

(b)  is closed and  is open.  

B1, B2 B3

S1 S2

S1 S2

S2 S1

https://dl.doubtnut.com/l/_Gar6IeLeEwZR
https://dl.doubtnut.com/l/_gUTxzbRE28xr


He also found that a bulb whose failure made the circuit 'open'

irrespective of the status of  and  . What are his observation.

Watch Video Solution

S1 S2

25. Saket was repairing an electric bell. By mistake, instead of an

electromagnet, he placed a permanent magnet in the electric bell.

Explain, what changes do you observe.

Watch Video Solution

26. Ravinder was inspired by reading the autobiography of Thomas Alva

Edison and changed a portion of his room into a laboratory. In his

laboratory he per-formed and activity that demonstrates both 'heating

e�ect' and 'magnetic e�ect' of electric current. He connected di�erent

components with di�erent wires and the connections are represented by

the following circuit diagram. 

To his disappointment, he was not successful in his e�ort. Observe the

https://dl.doubtnut.com/l/_gUTxzbRE28xr
https://dl.doubtnut.com/l/_vmUVUr1MErzH
https://dl.doubtnut.com/l/_Poq3Z4PChKYy


circuit and suggest modi�cations to make his e�ort successful. 

Watch Video Solution

27. Three batteries are connected as shown in the �gure. 

Then the total emf in the circuit is  V. 

A. 3

____

https://dl.doubtnut.com/l/_Poq3Z4PChKYy
https://dl.doubtnut.com/l/_X9DAG7p2yeRt


B. 4

C. 7

D. 14

Answer: C

Watch Video Solution

28. Three identical bulbs are connected as shown in �g-ure. Choose the

correct statement. 

A. All bulbs are in a series combination.

https://dl.doubtnut.com/l/_X9DAG7p2yeRt
https://dl.doubtnut.com/l/_1VfHuUJM8VUr


B. If bulb R is removed, bulb P and Q will still glow.

C. The total e.m.f in th circuitis 40 V.

D. The given circuit is an open circuit.

Answer: A

Watch Video Solution

29. A positively charged body is brought in contact with the cap of gold

leaf electroscope. Whose strips are netural , then

A. postively charge �ows from the body to the strips and both the

strips acquire positive charge.

B. due to like charged on strips , they arrract each other.

C. if a positively charged body is removed the gap between the strips

decreases.

D. Both (a) and (c ).

https://dl.doubtnut.com/l/_1VfHuUJM8VUr
https://dl.doubtnut.com/l/_kl4qRCcrxHrw


Answer: A

Watch Video Solution

30. Choose the correct statement: 

When the same current (i) �ows through two circuits as shown in the

�gures then(assume that all bulbs are identical ) 

A. In circuit (i) bulbs glow with more brightness then circuit (ii)

B. In circuit (ii) bulbs glow with more brightness then circuit (i)

C. In both circuits bulbs glow with same brightness

D. Cannot be determined

https://dl.doubtnut.com/l/_kl4qRCcrxHrw
https://dl.doubtnut.com/l/_3p7pHCnT25Vy


Answer: A

Watch Video Solution

31. A glass rod is rubbed against a silk cloth, then

A. the glass rod acquires a positive charge due to loss of electrons.

B. the silk cloth acquires negative charges due to gain of electrons.

C. if these two bodies are again brought in contact the net charge on

them is zero.

D. All the above.

Answer: D

Watch Video Solution

32. A magnet is brought close to a current carrying con-ductor as shown

in �gure, then 

https://dl.doubtnut.com/l/_3p7pHCnT25Vy
https://dl.doubtnut.com/l/_4sH55CBXmaPI
https://dl.doubtnut.com/l/_DyLookBblm5y


A. it will be repelled by the conductor.

B. it will be attracte by the conductor

C. it will not show any e�ect.

D. it will be just de�ected.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_DyLookBblm5y


33. Three dry cells are connected as shown in the

 �gure. If e.m.f

of each cell is 2 V, then the e.m.f. of the combination is  V.

A. 2

B. 6

C. 3

D. 4

Answer: B

Watch Video Solution

_____

34. Choose the correct statement about the given circuit: Three identical

bulbs are connected as shown in the �gure. 

https://dl.doubtnut.com/l/_W8LZb9IaBsAj
https://dl.doubtnut.com/l/_Iqpe80Sb6x4A


A. Bulbs A and B are in parallel with bulb C.

B. The potential (e.m.f) in the circuit is 60 V.

C. When switch 'S' is turned on all bulbs glow with the same

brightness.

D. Both (a) and (b)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Iqpe80Sb6x4A
https://dl.doubtnut.com/l/_n8b8fath5eeB


35. When a positively charged and another negtively charged bodies with

equal magnitude of charge are brought simultaneously in contact with

the cap of a positively charged electroscope, then the strips

A. move apart.

B. come closer.

C. remains une�ected

D. Cannot be determined

Answer: B

Watch Video Solution

36. When a neutral body is brought closer to a negatively charged body,

then

A. it becomes positively charged.

B. the net charge on it is zero

https://dl.doubtnut.com/l/_n8b8fath5eeB
https://dl.doubtnut.com/l/_AGMxNhRff3iR


C. it consists of equal positive and negative charge.

D. Both (a) and (c ).

Answer: D

Watch Video Solution

37. What happens when a current carrying metallic comb is placed close

to small iron �lings?

A. iron �lings will �y away from the comb, when switch is turned o�.

B. iron �lings align in the direction of the magentic �eld produced

around the metallic comb.

C. iron �lings wil be attracted by the comb.

D. Both (a) and (b)

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_AGMxNhRff3iR
https://dl.doubtnut.com/l/_5OLfh0KWehno


38. (a) Two charged bodies, A and B are suspended from a �xed point with

the help of silk threads as shown in the �gure. If A is positively charged

can we identify the nature of charge on 'B' ? 

  

(b) A negatively charged conducting sphere A and a neutral sphere B are

kepton insulating stands and brought cose to each other. The charge

distri-bution is as shown in the �gure. 

Is B charged ? What type of force exists between A and B ?

Watch Video Solution

39. Raghavan found a metallic rod AB and a glass rod CD both positively

charged and placed on an insulat-ing table. He wanted to know what

https://dl.doubtnut.com/l/_5OLfh0KWehno
https://dl.doubtnut.com/l/_WyWN0kVBsEXU
https://dl.doubtnut.com/l/_8vAt93AdNSJ9


would happen to the charges on AB and CD if he touched both the rod at

A and C ? Discuss. 

Watch Video Solution

40. Two identical, small metallic shpheres A and B are placed side by side

on an insultaing smooth table as shown in the �gure. If A is positively

charged and held �xed with the table , discuss the motion of B. 

Watch Video Solution

https://dl.doubtnut.com/l/_8vAt93AdNSJ9
https://dl.doubtnut.com/l/_lIpw5ktc1APr


41. Observe the circuit and state whether the cells are connected in series

or parallel. If each cell is of e.m.f. , then �nd the total e.m.f applied

across the bulb connected. 

Watch Video Solution

1.5V

42. Three identical cells of e.m.f.  are given. Find how we can arrange

them to get a total e.m.f. of 

(a) , (b) , (c ) .

Watch Video Solution

1.5V

1.5V 3V 4.5V

https://dl.doubtnut.com/l/_eeaDcr4LVBWe
https://dl.doubtnut.com/l/_LVm6dAqkogtk


43. Prahar took two identical heating elements and con-nected them to a

battery in two di�erent ways as shown in the �gure. When he switched

ON the switch, is the heat developed in each element the same or

di�erent in both the cases ? 

Watch Video Solution

https://dl.doubtnut.com/l/_aFHBpExBfawp


44. Identify whether the following circuits are open or closed. 

Watch Video Solution

45. What is the nature of materials used to make the '�lament' of an

electric bulb and the 'fuse wire' used in electric fuse ? Compare them.

Watch Video Solution

46. What are the colours of live, neutral and earth wires?

https://dl.doubtnut.com/l/_aGNrJ8byxxIW
https://dl.doubtnut.com/l/_KraxNFTR7EdX
https://dl.doubtnut.com/l/_tgyzMmEOh6Hw


Watch Video Solution

47. Represent the connections shown below by a circuit diagram. 

Watch Video Solution

48. We observe the bulb glowing when the switch is 'ON'. Can we

conculde that charges instantly move from the 'switch' to the bulb ?

Discuss.

https://dl.doubtnut.com/l/_tgyzMmEOh6Hw
https://dl.doubtnut.com/l/_2tgWjhp3hbU4
https://dl.doubtnut.com/l/_xwO6mKnqSFRG


Watch Video Solution

49. What is a depolarizer and how does it work ?

Watch Video Solution

50. Gourang made an electric circuit with three bulbs  and  a

cell and two switches  and  as shown in �gure. He notes his

observation when 

  

(a)  is closed and  is open,  

B1, B2 B3

S1 S2

S1 S2

https://dl.doubtnut.com/l/_xwO6mKnqSFRG
https://dl.doubtnut.com/l/_5Inxh7jTfXiH
https://dl.doubtnut.com/l/_ygpJUCcu9Mjw


(b)  is closed and  is open.  

He also found that a bulb whose failure made the circuit 'open'

irrespective of the status of  and  . What are his observation.

Watch Video Solution

S2 S1

S1 S2

51. Saket was repairing an electric bell. By mistake, instead of an

electromagnet, he placed a permanent magnet in the electric bell.

Explain, what changes do you observe.

Watch Video Solution

52. Ravinder was inspired by reading the autobiography of Thomas Alva

Edison and changed a portion of his room into a laboratory. In his

laboratory he per-formed and activity that demonstrates both 'heating

e�ect' and 'magnetic e�ect' of electric current. He connected di�erent

components with di�erent wires and the connections are represented by

the following circuit diagram. 

To his disappointment, he was not successful in his e�ort. Observe the

https://dl.doubtnut.com/l/_ygpJUCcu9Mjw
https://dl.doubtnut.com/l/_MRnkuhTyuQE2
https://dl.doubtnut.com/l/_dph1C2p3a2vG


Level Iii

circuit and suggest modi�cations to make his e�ort successful. 

Watch Video Solution

1. Describe the electrostatic force that exists between A and B in the

following cases. 

https://dl.doubtnut.com/l/_dph1C2p3a2vG
https://dl.doubtnut.com/l/_qgTMcNqjVuJp


https://dl.doubtnut.com/l/_qgTMcNqjVuJp


Watch Video Solution

2. We know that (a) like electrical charges repel each other and (b)

substances which allow charges to move through them are called

conductors. In the light of these facts, �nd where the charge placed on a

conductor resides.

Watch Video Solution

3. A and B are two identical conducting rods. A is given positive charge

and B is connected to a cell as shown in the �gure. Will there be any

change in the electrostatic force between A and B if the switch is closed ? 

https://dl.doubtnut.com/l/_qgTMcNqjVuJp
https://dl.doubtnut.com/l/_aznLAdGFKE9j
https://dl.doubtnut.com/l/_AGKnkWi96Kww


Watch Video Solution

4. How can we identify the presence and nature of charge on a body with

the help of an electroscope ?

Watch Video Solution

5. Three identical cells  and three identical bulbs 

are connected as shown in the circuit. 

(a) Find how  and  are con-nected, wheather in

parallel or in series ? 

E1, E2, E3 B1, B2, B3

E1, E2, E3 B1, B2, B3

https://dl.doubtnut.com/l/_AGKnkWi96Kww
https://dl.doubtnut.com/l/_63dMRoJFv7ia
https://dl.doubtnut.com/l/_K9ZMbTAGWeWA


(b) Compare the brightness of the bulbs. 

Watch Video Solution

6. Usually we use two di�erent types of sockets (a) two-pin socket and (b)

three-pin socket. What purpose does the thrid pin in a three-pin socket

serve ?

Watch Video Solution

https://dl.doubtnut.com/l/_K9ZMbTAGWeWA
https://dl.doubtnut.com/l/_5ARaRfKCl9Uv


7. Pranith recived an electric bill for the month of April. He started

verifying it by calculating the electrical energy consumed by a 2000 W

electrical appliance that is used for two hours every day in his workshop.

In his house he used bulbs of 100 W for 4 hours every day in the month of

april, which con-sumes the same electrical energy as that of the elec-trical

appliance in the work shop. Find the number of bulbs Panith uses in his

house.

Watch Video Solution

8. Which e�ect of electricity is used in electrotype set-ting ? Discuss.

Watch Video Solution

9. State whether all the bulbs we use work on the principle of heating

e�ects of electric current ?

Watch Video Solution

https://dl.doubtnut.com/l/_5ARaRfKCl9Uv
https://dl.doubtnut.com/l/_b3HMMvc6FPyg
https://dl.doubtnut.com/l/_odcCX5EhhWg9
https://dl.doubtnut.com/l/_KITMoENoVf2E


10. What make electrical energy so useful for mankind ?

Watch Video Solution

11. Describe the electrostatic force that exists between A and B in the

following cases. 

https://dl.doubtnut.com/l/_KITMoENoVf2E
https://dl.doubtnut.com/l/_IaJHsfXiIiHw
https://dl.doubtnut.com/l/_QmhDQBNmClZG


https://dl.doubtnut.com/l/_QmhDQBNmClZG


Watch Video Solution

12. We know that (a) like electrical charges repel each other and (b)

substances which allow charges to move through them are called

conductors. In the light of these facts, �nd where the charge placed on a

conductor resides.

Watch Video Solution

13. A and B are two identical conducting rods. A is given positive charge

and B is connected to a cell as shown in the �gure. Will there be any

change in the electrostatic force between A and B if the switch is closed ? 

https://dl.doubtnut.com/l/_QmhDQBNmClZG
https://dl.doubtnut.com/l/_p8ZSnC8ZAgDp
https://dl.doubtnut.com/l/_Z3Jk9VUEOQOK


Watch Video Solution

14. With the help of an electroscope, how can we iden-tify the presence

and nature of charge on a body?

Watch Video Solution

15. Three identical cells  and three identical bulbs 

are connected as shown in the circuit. 

(a) Find how  and  are con-nected, wheather in

parallel or in series ? 

E1, E2, E3 B1, B2, B3

E1, E2, E3 B1, B2, B3

https://dl.doubtnut.com/l/_Z3Jk9VUEOQOK
https://dl.doubtnut.com/l/_nfoqMvxuZSv3
https://dl.doubtnut.com/l/_WQBXX1ziHNUB


(b) Compare the brightness of the bulbs. 

Watch Video Solution

16. Usually we use two di�erent types of sockets (a) two-pin socket and (b)

three-pin socket. What purpose does the thrid pin in a three-pin socket

serve ?

Watch Video Solution

https://dl.doubtnut.com/l/_WQBXX1ziHNUB
https://dl.doubtnut.com/l/_kdGCBqgzi8Yf


17. Pranith recived an electric bill for the month of April. He started

verifying it by calculating the electrical energy consumed by a 2000 W

electrical appliance that is used for two hours every day in his workshop.

In his house he used bulbs of 100 W for 4 hours every day in the month of

april, which con-sumes the same electrical energy as that of the elec-trical

appliance in the work shop. Find the number of bulbs Panith uses in his

house.

Watch Video Solution

18. Which e�ect of electricity is used in electrotype set-ting ? Discuss.

Watch Video Solution

19. Do all bulbs we use work on the principle of heating e�ects of electric

current ? Discuss.

Watch Video Solution

https://dl.doubtnut.com/l/_kdGCBqgzi8Yf
https://dl.doubtnut.com/l/_Epmdo2yVYRR5
https://dl.doubtnut.com/l/_1faRZbYvvIhF
https://dl.doubtnut.com/l/_JmEgwGzmsBfr


Test 2

20. What make electrical energy so useful for mankind ?

Watch Video Solution

1. Write the following steps is sequence that explain the phenomenon of

redistribution of charges in an unchanged body in presence of a charged

body . 

(A) As a result at one of the neutral body there is and excess of negatively

charged particles and the other end there is an excess of positively

charged particles. 

(B) Place a positively charged body near a neutral body. 

(C ) The negatively and positively chargeed particles in the neutral body

get attracted and repelled by the positively charged body .

A. BCA

https://dl.doubtnut.com/l/_JmEgwGzmsBfr
https://dl.doubtnut.com/l/_KvsXd9hqSu3z
https://dl.doubtnut.com/l/_VZz16WlwJSW0


B. CAB

C. ACB

D. BAC

Answer: A

Watch Video Solution

2. Write the following steps in sequence to shows that the unlike charges

attract each other. 

(A) Take an ebonite rod and a glass and tie two silk threads so that they

can be suspended. 

(B) The glass rod and ebonite rod when brought near attract each other

showing that charges attract each other. 

Rub ebonite rod with woollen cloth and glass rod with silk cloth and

suspend tem in air by holding silk threads.

A. ACB

B. CBA

https://dl.doubtnut.com/l/_VZz16WlwJSW0
https://dl.doubtnut.com/l/_C8pWtkEyAWEY


C. BCA

D. ABC

Answer: A

Watch Video Solution

3. Identify the correct statement/s related to polarization in voltraic cell. 

(a) When current passes through the voltaic cell, zinc plate starts

dissolving in the acid and pro-duces hydrogen bubbles. 

(b) These hydrogen bubbles accumulate on the cop-per plate and develop

resistance to the �ow of current.

A. Only (A) is true.

B. Only (B) is true.

C. Both (A) and (B) true.

D. Both (A) and (B) are false.

Answer: C

https://dl.doubtnut.com/l/_C8pWtkEyAWEY
https://dl.doubtnut.com/l/_LPwaNXdxD43Z


Watch Video Solution

4. When a neutral body is brought closer to a negatively charged body,

then

A. it becomes positively charged.

B. the net charge on it is zero

C. it consists of equal positive and negative charge.

D. Both (b) and (c )

Answer: D

Watch Video Solution

5. Assertion (A) : The electrical appliances connected in series do not work

to their full capacity. 

Reason (R ) : The electrical energy drawn from the battery is shared by all

the appliances connected in series.

https://dl.doubtnut.com/l/_LPwaNXdxD43Z
https://dl.doubtnut.com/l/_t0mn4gfLTtAN
https://dl.doubtnut.com/l/_4kho6puYa632


A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true and R is not the correct explanation of A.

C. A is true but R is false.

D. Both A and R are false.

Answer: A

Watch Video Solution

6. Assertion (A): A 1000 W bulb when used for 1 hour consumes the same

number of electrical units as that of 100 W bulb that is used for 10 hours. 

Reason (R ) : On electrical unit is charged when one kilowatt hour

electrical energy is consumed.

A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true and R is not the correct explanation of A.

C. A is true but R is false.

D. Both A and R are false.

https://dl.doubtnut.com/l/_4kho6puYa632
https://dl.doubtnut.com/l/_19eNnrUdKseV


Answer: A

Watch Video Solution

7. Match columns

A. 

B. 

C. 

D. 

A → d, B → c, C → a, D → e, E → b

A → b, B → c, C → d, D → e, E → a

A → e, B → c, C → d, D → a, E → b

A → b, B → c, C → a, D → e, E → d

https://dl.doubtnut.com/l/_19eNnrUdKseV
https://dl.doubtnut.com/l/_7yZBkuchf0cA


Answer: C

Watch Video Solution

8. Choose the correct statement about the given circuit : 

Three identical bulb are connected as shown in the �gure. 

A. Bulbs A and B are in parallel with bulb C.

B. The potential (e.m.f) in the circuit is 60 V.

https://dl.doubtnut.com/l/_7yZBkuchf0cA
https://dl.doubtnut.com/l/_cuDTwytsVaMv


C. When switch 'S' is turned on all bulbs glow with the same

brightness.

D. Both (a) and (b).

Answer: D

Watch Video Solution

9. Choose the correct statement : - 

(A) In case of an electric cell, chemical energy is converted into electrical

energy. 

(B) combination of electric cells is called battery.

A. Only (A) is true.

B. Only (B) is true.

C. Both (A) and (B) true.

D. Both (A) and (B) are false.

https://dl.doubtnut.com/l/_cuDTwytsVaMv
https://dl.doubtnut.com/l/_uczIem8yiFBb


Answer: C

Watch Video Solution

10. The brass of cap of the carbon and the zinc can of the dry cll act as

 and  poles, respectively.

A. positive, negative

B. positive, positive

C. negative, positive

D. negative, negative

Answer: A

Watch Video Solution

_______ ______

11. Which of the following is a good conductor of electricity.

https://dl.doubtnut.com/l/_uczIem8yiFBb
https://dl.doubtnut.com/l/_xF9AW6EGt19L
https://dl.doubtnut.com/l/_AYbxjLXMVIvW


A. impure water

B. Glass

C. ebonite

D. Wood

Answer: A

Watch Video Solution

12. An electric generator converts :

A. mechanical energy into electrical energy.

B. electrical energy into mechanical energy.

C. chemical energy into electrical energy.

D. chemical energy into mechanical energy.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_AYbxjLXMVIvW
https://dl.doubtnut.com/l/_1WZtBTjuSYKL


13. A magnet is brought close to a current carrying con-ductor as shown

in �gure, then 

A. it will be repelled by the conductor.

B. it will be attracte by the conductor

C. it will not show any e�ect.

D. it will be just de�ected. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_1WZtBTjuSYKL
https://dl.doubtnut.com/l/_273VEY2aBEUp


14. Choose the correct statement: 

When the same current(i) �ows through tow circuits as shown in the

�gures, then (assume that all bulbs are identical) 

(A) bulbs in �rst combination glow with more brightness. 

(B) bulbs in second combination glow with more brightness. 

(C) bulbs in both the combination glow with equal brightness. 

A. Only (A) is true.

B. Only (B) is true.

C. Only (C ) is true

D. Cannot be determined

https://dl.doubtnut.com/l/_273VEY2aBEUp
https://dl.doubtnut.com/l/_N6hqI0cqhSHd


Answer: A

Watch Video Solution

15. When a neutral body is brought closer to a negatively charged body,

then

A. it becomes positively charged.

B. the net charge on it is zero

C. it consists of equal positive and negative charge.

D. Both (b) and (c )

Answer: D

Watch Video Solution

16. Write the following steps is sequence that explain the phenomenon of

redistribution of charges in an unchanged body in presence of a charged

https://dl.doubtnut.com/l/_N6hqI0cqhSHd
https://dl.doubtnut.com/l/_dpQau2687BNf
https://dl.doubtnut.com/l/_pjo1kRr1FsHH


body . 

(A) As a result at one of the neutral body there is and excess of negatively

charged particles and the other end there is an excess of positively

charged particles. 

(B) Place a positively charged body near a neutral body. 

(C ) The negatively and positively chargeed particles in the neutral body

get attracted and repelled by the positively charged body .

A. BCA

B. CAB

C. ACB

D. BAC

Answer: A

Watch Video Solution

17. Write the following steps in sequence to shows that the unlike

charges attract each other. 

https://dl.doubtnut.com/l/_pjo1kRr1FsHH
https://dl.doubtnut.com/l/_rKakEkKZEqCr


(A) Take an ebonite rod and a glass and tie two silk threads so that they

can be suspended. 

(B) The glass rod and ebonite rod when brought near attract each other

showing that charges attract each other. 

Rub ebonite rod with woollen cloth and glass rod with silk cloth and

suspend tem in air by holding silk threads.

A. ACB

B. CBA

C. BCA

D. ABC

Answer: A

Watch Video Solution

18. Identify the correct statement/s related to polarization in voltraic cell. 

(a) When current passes through the voltaic cell, zinc plate starts

dissolving in the acid and pro-duces hydrogen bubbles. 

https://dl.doubtnut.com/l/_rKakEkKZEqCr
https://dl.doubtnut.com/l/_a3Q5XrxMDB0j


(b) These hydrogen bubbles accumulate on the cop-per plate and develop

resistance to the �ow of current.

A. Only (A) is true.

B. Only (B) is true.

C. Both (A) and (B) true.

D. Both (A) and (B) are false.

Answer: C

Watch Video Solution

19. When a neutral body is brought closer to a negatively charged body,

then

A. it becomes positively charged.

B. the net charge on it is zero

C. it consists of equal positive and negative charge.

https://dl.doubtnut.com/l/_a3Q5XrxMDB0j
https://dl.doubtnut.com/l/_2vvRUwQHtsgr


D. Both (b) and (c )

Answer: D

Watch Video Solution

20. Assertion (A) : The electrical appliances connected in series do not

work to their full capacity. 

Reason (R ) : The electrical energy drawn from the battery is shared by all

the appliances connected in series.

A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true and R is not the correct explanation of A.

C. A is true but R is false.

D. Both A and R are false.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_2vvRUwQHtsgr
https://dl.doubtnut.com/l/_TZcLdAtybELn


21. Assertion (A): A 1000 W bulb when used for 1 hour consumes the same

number of electrical units as that of 100 W bulb that is used for 10 hours. 

Reason (R ) : On electrical unit is charged when one kilowatt hour

electrical energy is consumed.

A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true and R is not the correct explanation of A.

C. A is true but R is false.

D. Both A and R are false.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_bMEGUE0VtWug


22. Match columns

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A → d, B → c, C → a, D → e, E → b

A → b, B → c, C → d, D → e, E → a

A → e, B → c, C → d, D → a, E → b

A → b, B → c, C → a, D → e, E → d

https://dl.doubtnut.com/l/_w3nmCSISJkBC
https://dl.doubtnut.com/l/_QntVSl4PHs7h


23. Choose the correct statement about the given circuit: Three identical

bulbs are connected as shown in the �gure. 

A. Bulbs A and B are in parallel with bulb C.

B. The potential (e.m.f) in the circuit is 60 V.

C. When switch 'S' is turned on all bulbs glow with the same

brightness.

D. Both (a) and (b).

Answer: D

https://dl.doubtnut.com/l/_QntVSl4PHs7h


Watch Video Solution

24. Choose the correct statement : - 

(A) In case of an electric cell, chemical energy is converted into electrical

energy. 

(B) combination of electric cells is called battery.

A. Only (A) is true.

B. Only (B) is true.

C. Both (A) and (B) true.

D. Both (A) and (B) are false.

Answer: C

Watch Video Solution

25. The brass of cap of the carbon and the zinc can of the dry cll act as

 and  poles, respectively._______ ______

https://dl.doubtnut.com/l/_QntVSl4PHs7h
https://dl.doubtnut.com/l/_Om40VsXyFA6o
https://dl.doubtnut.com/l/_QPHn7Gf3pSBc


A. positive, negative

B. positive, positive

C. negative, positive

D. negative, negative

Answer: A

Watch Video Solution

26. Which of the following is a good conductor of electricity.

A. impure water

B. Glass

C. ebonite

D. Wood

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_QPHn7Gf3pSBc
https://dl.doubtnut.com/l/_w2jPcj9DA505


27. An electric generator converts :

A. mechanical energy into electrical energy.

B. electrical energy into mechanical energy.

C. chemical energy into electrical energy.

D. chemical energy into mechanical energy.

Answer: A

Watch Video Solution

28. A magnet is brought close to a current carrying con-ductor as shown

in �gure, then 

https://dl.doubtnut.com/l/_w2jPcj9DA505
https://dl.doubtnut.com/l/_uY2YeShxrrRj
https://dl.doubtnut.com/l/_iwc3X5oyLNJd


A. it will be repelled by the conductor.

B. it will be attracte by the conductor

C. it will not show any e�ect.

D. it will be just de�ected. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_iwc3X5oyLNJd


29. Choose the correct statement: 

When the same current(i) �ows through tow circuits as shown in the

�gures, then (assume that all bulbs are identical) 

(A) bulbs in �rst combination glow with more brightness. 

(B) bulbs in second combination glow with more brightness. 

(C) bulbs in both the combination glow with equal brightness. 

A. Only (A) is true.

B. Only (B) is true.

C. Only (C ) is true

D. Cannot be determined

Answer: A

https://dl.doubtnut.com/l/_4GU0kKCrtyTA


Asessment Test 1

Watch Video Solution

30. When a neutral body is brought closer to a negatively charged body,

then

A. it becomes positively charged.

B. the net charge on it is zero

C. it consists of equal positive and negative charge.

D. Both (b) and (c )

Answer: D

Watch Video Solution

1. What is the correct sequence of given steps to charge a body by

conduction? 

https://dl.doubtnut.com/l/_4GU0kKCrtyTA
https://dl.doubtnut.com/l/_r9NnTsi76G2y
https://dl.doubtnut.com/l/_h7FPS3WPGzZi


(A) Bring this positively charged glass rod in contact with a (neutral)

uncharged metallic body, because of this the metallic body also becomes

positively charged. 

(B) Take a glass rod and rub it with silk cloth. 

(C) Some electrons move from the glass rod to the silk cloth because of

this the glass and becomes positively charged.

A. ABC

B. BCA

C. ACB

D. BAC

Answer: B

Watch Video Solution

2. Write the following steps in sequential order to prove that like charges

repal each other. 

(A) Take two glass rods. 

https://dl.doubtnut.com/l/_h7FPS3WPGzZi
https://dl.doubtnut.com/l/_CtH6vO9kUwCf


(B) Now bring these two charged rods nearer. 

(C) Charge them by rubbing each glass rod with a silk cloth. 

(D) The glass rods equal other showing that like charges repel each other.

A. ABCD

B. DCBA

C. BACD

D. BADC

Answer: C

Watch Video Solution

3. Indentify the correct statement/s related to local action in a voltaic cell.

(a) Carbon and iron particles present in zinc plate act as impurities. 

(b) Impurities react with acid and with the zinc par-ticles to form a large

number of tiny cells creat-ing local electric circuits.

A. Only (A) is true.

https://dl.doubtnut.com/l/_CtH6vO9kUwCf
https://dl.doubtnut.com/l/_99lWctWAyUff


B. Only (B) is true.

C. Both (A) and (B) true.

D. Both (A) and (B) false.

Answer: C

Watch Video Solution

4. A glass rod is rubbed against a silk cloth, then

A. the glass rod acquires a positive charge due to loss of electrons.

B. the silk cloth acquires negative charge due to gain of electrons.

C. if these two bodies are again brought in contact the net charge on

them is zero.

D. All the above.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_99lWctWAyUff
https://dl.doubtnut.com/l/_jISM2kPxctn7


5. Assertion (A): A 200 W bulb consumes 2 units of electrical energy when

it is used for 10 hours. 

Reason (R): 1 unit of electrical energy = 1000 k Wh .

A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true and R is not the correct explanation of A.

C. A is true but R is false.

D. Both A and R are false.

Answer: C

Watch Video Solution

6. Assertion (A) : All the bulbs connected in parallel glow brightly. 

Reason (R) : All the bulbs are connected directly to a battery and derive

the required electrcial energy.

https://dl.doubtnut.com/l/_jISM2kPxctn7
https://dl.doubtnut.com/l/_CUCgZe4y6F6s
https://dl.doubtnut.com/l/_m428cvd1wLCH


A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true and R is not the correct explanation of A.

C. A is true but R is false.

D. Both A and R are false.

Answer: A

Watch Video Solution

7. Match columns

A. A → d, B → c, C → a, D → e, E → b

https://dl.doubtnut.com/l/_m428cvd1wLCH
https://dl.doubtnut.com/l/_Ijt4lyv0RRee


B. 

C. 

D. 

Answer: A

Watch Video Solution

A → b, B → c, C → d, D → e, E → a

A → e, B → c, C → d, D → a, E → b

A → b, B → c, C → a, D → e, E → d

8. Three identical bulbs are connected as shown in �g-ure. Choose the

correct statement. 

A. All bulbs are in a series combination.

https://dl.doubtnut.com/l/_Ijt4lyv0RRee
https://dl.doubtnut.com/l/_8Yqc2IsFfBve


B. If bulb R is removed, bulb P and Q will still glow.

C. The total e.m.f in th circuitis 40 V.

D. The given circuit is an open circuit.

Answer: A

Watch Video Solution

9. Choose the correct statement(s) in case of a voltric cell. 

(A) Cathode used is Zn and anode used is copper. 

(B) The electrolyte used is dilute sulphuric acid.

A. Only (A) is true.

B. Only (B) is true.

C. Both (A) and (B) true.

D. Both (A) and (B) are false.

Answer: C

https://dl.doubtnut.com/l/_8Yqc2IsFfBve
https://dl.doubtnut.com/l/_TyQBzxoUEJjt


Watch Video Solution

10. The porous pot in Leclanche cell contains  with a carbon rod

dipped in it.

Watch Video Solution

_____

11. Which of the following is a bad conductor of electricity ?

A. Gold

B. Copper

C. Pure alcohol

D. Living plant

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_TyQBzxoUEJjt
https://dl.doubtnut.com/l/_zcPsYVpfxXoR
https://dl.doubtnut.com/l/_Gmvow8gnwXTj


12. An electric motor converts

A. electrical energy into mechanical energy.

B. mechanical energy into electrical energy.

C. heat energy into electrical energy.

D. None of the above

Answer: A

Watch Video Solution

13. A magnet is brought close to a current carrying con-ductor as shown

in �gure, then 

https://dl.doubtnut.com/l/_zCSyQox6Di9z
https://dl.doubtnut.com/l/_21qp8B7FkBdd


A. iron �lings will �y away from the comb, when switch is turned o�.

B. iron �ling will �y away from the comb, when switch is turned o�.

C. iron �lings align in the direction of the magnetic �eld produced

around the metallic comb.

D. iron �ling will be attracted by the comb.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_21qp8B7FkBdd


14. Assertion (A): A 200 W bulb consumes 2 units of electrical energy

when it is used for 10 hours. 

Reason (R): 1 unit of electrical energy = 1000 k Wh .

A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true and R is not the correct explanation of A.

C. A is true but R is false.

D. Both A and R are false.

Answer: A

Watch Video Solution

15. A glass rod is rubbed against a silk cloth, then

A. the glass rod acquires a positive charge due to loss of electrons.

B. the silk cloth acquires negative charge due to gain of electrons.

https://dl.doubtnut.com/l/_eqQTlyd2sYuw
https://dl.doubtnut.com/l/_devBd9Ix6uIh


C. if these two bodies are again brought in contact the net charge on

them is zero.

D. All the above.

Answer: D

Watch Video Solution

16. What is the correct sequence of given steps to charge a body by

conduction? 

(A) Bring this positively charged glass rod in contact with a (neutral)

uncharged metallic body, because of this the metallic body also becomes

positively charged. 

(B) Take a glass rod and rub it with silk cloth. 

(C) Some electrons move from the glass rod to the silk cloth because of

this the glass and becomes positively charged.

A. ABC

B. BCA

https://dl.doubtnut.com/l/_devBd9Ix6uIh
https://dl.doubtnut.com/l/_rPrUkkCwV5JG


C. ACB

D. BAC

Answer: B

Watch Video Solution

17. Write the following steps in sequential order to prove that like

charges repal each other. 

(A) Take two glass rods. 

(B) Now bring these two charged rods nearer. 

(C) Charge them by rubbing each glass rod with a silk cloth. 

(D) The glass rods equal other showing that like charges repel each other.

A. ABCD

B. DCBA

C. BACD

D. BADC

https://dl.doubtnut.com/l/_rPrUkkCwV5JG
https://dl.doubtnut.com/l/_pURH35Z7SSYT


Answer: C

Watch Video Solution

18. Indentify the correct statement/s related to local action in a voltaic

cell. 

(a) Carbon and iron particles present in zinc plate act as impurities. 

(b) Impurities react with acid and with the zinc par-ticles to form a large

number of tiny cells creat-ing local electric circuits.

A. Only (A) is true.

B. Only (B) is true.

C. Both (A) and (B) true.

D. Both (A) and (B) false.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_pURH35Z7SSYT
https://dl.doubtnut.com/l/_vjQLJBhUZX8r
https://dl.doubtnut.com/l/_UC8sGwlJe2Ny


19. When a glass rod is rubbed with silk, it

A. the glass rod acquires a positive charge due to loss of electrons.

B. the silk cloth acquires negative charge due to gain of electrons.

C. if these two bodies are again brought in contact the net charge on

them is zero.

D. All the above.

Answer: D

Watch Video Solution

20. Assertion (A): A 200 W bulb consumes 2 units of electrical energy

when it is used for 10 hours. 

Reason (R): 1 unit of electrical energy = 1000 k Wh .

A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true and R is not the correct explanation of A.

https://dl.doubtnut.com/l/_UC8sGwlJe2Ny
https://dl.doubtnut.com/l/_Hw8ytBMjuo8X


C. A is true but R is false.

D. Both A and R are false.

Answer: C

Watch Video Solution

21. Assertion (A) : All the bulbs connected in parallel glow brightly. 

Reason (R) : All the bulbs are connected directly to a battery and derive

the required electrcial energy.

A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true and R is not the correct explanation of A.

C. A is true but R is false.

D. Both A and R are false.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Hw8ytBMjuo8X
https://dl.doubtnut.com/l/_BnO3hSwl5yp7


22. 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

A → d, B → c, C → a, D → e, E → b

A → b, B → c, C → d, D → e, E → a

A → e, B → c, C → d, D → a, E → b

A → b, B → c, C → a, D → e, E → d

https://dl.doubtnut.com/l/_BnO3hSwl5yp7
https://dl.doubtnut.com/l/_DcxYvo6lmNGX


23. Three identical bulbs are connected as shown in �g-ure. Choose the

correct statement. 

A. All bulbs are in a series combination.

B. If bulb R is removed, bulb P and Q will still glow.

C. The total e.m.f in th circuitis 40 V.

D. The given circuit is an open circuit.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_fy1tOk04qwze
https://dl.doubtnut.com/l/_ZSWODdaxhQmm


24. Choose the correct statement(s) in case of a voltric cell. 

(A) Cathode used is Zn and anode used is copper. 

(B) The electrolyte used is dilute sulphuric acid.

A. Only (A) is true.

B. Only (B) is true.

C. Both (A) and (B) true.

D. Both (A) and (B) are false.

Answer: C

Watch Video Solution

25. The porous pot in Leclanche cell contains  with a carbon rod

dipped in it.

Watch Video Solution

_____

https://dl.doubtnut.com/l/_ZSWODdaxhQmm
https://dl.doubtnut.com/l/_SIjmnBrvuw7u


26. Which of the following is a bad conductor of electricity ?

A. Gold

B. Copper

C. Pure alcohol

D. Living plant

Answer: C

Watch Video Solution

27. An electric motor converts

A. electrical energy into mechanical energy.

B. mechanical energy into electrical energy.

C. heat energy into electrical energy.

D. None of the above

https://dl.doubtnut.com/l/_MuU86hoYYfzA
https://dl.doubtnut.com/l/_AZHX4estxKtY


Answer: A

Watch Video Solution

28. What happens when a current carrying metallic comb is placed close

to small iron �lings?

A. iron �lings will �y away from the comb, when switch is turned o�.

B. iron �ling will �y away from the comb, when switch is turned o�.

C. iron �lings align in the direction of the magnetic �eld produced

around the metallic comb.

D. iron �ling will be attracted by the comb.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_AZHX4estxKtY
https://dl.doubtnut.com/l/_fLxydyJVBndQ


29. Assertion (A): A 200 W bulb consumes 2 units of electrical energy

when it is used for 10 hours. 

Reason (R): 1 unit of electrical energy = 1000 k Wh .

A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true and R is not the correct explanation of A.

C. A is true but R is false.

D. Both A and R are false.

Answer: A

Watch Video Solution

30. A glass rod is rubbed against a silk cloth, then

A. the glass rod acquires a positive charge due to loss of electrons.

B. the silk cloth acquires negative charge due to gain of electrons.

https://dl.doubtnut.com/l/_S5hu0BvOLoaL
https://dl.doubtnut.com/l/_v9dpuiUF1eXx


Test Your Concepts Very Short Answer Type Questions

C. if these two bodies are again brought in contact the net charge on

them is zero.

D. All the above.

Answer: D

Watch Video Solution

1. Which is the most convenient form of energy?

Watch Video Solution

2. When two bodies A and B are rubbed, they acquire charge by friction, If

the charge on A is negative, then the charge on B is .

Watch Video Solution

_______

https://dl.doubtnut.com/l/_v9dpuiUF1eXx
https://dl.doubtnut.com/l/_zERtiVbfutGf
https://dl.doubtnut.com/l/_A1JkxJYYVOjn


3.  is a device used to detect the presence and the nature of the

charge on a body.

Watch Video Solution

_______

4.  is a used to protect builiding from lightning.

Watch Video Solution

_______

5. When charges are moving from one end to the other end of a

conductor, we say there is  in the conductor.

Watch Video Solution

_______

6.  acts as a positive pole and  as a negative pole in a dry

cell.

Watch Video Solution

_______ _______

https://dl.doubtnut.com/l/_6AvFnqaLHqN8
https://dl.doubtnut.com/l/_duADEildy1Vn
https://dl.doubtnut.com/l/_tjOGttEOvIsl
https://dl.doubtnut.com/l/_IiL6oBZzwXRm


7.  and  are two defects of voltaic cell.

Watch Video Solution

_______ _______

8. Four cells of e.m.f. 2.5 V each are connected in series to form a battery,

the e.m.f. of the battery is .

Watch Video Solution

_______

9.  or  is used to protect electrical appliances from

damages due to excess current.

Watch Video Solution

_______ _______

10. When electric current passes through a wire,  �eld is created

around it.

W h Vid S l i

_______

https://dl.doubtnut.com/l/_IiL6oBZzwXRm
https://dl.doubtnut.com/l/_q6M7Q1zREc3t
https://dl.doubtnut.com/l/_J0erKEw32ctt
https://dl.doubtnut.com/l/_YMWJnVUOK4CJ
https://dl.doubtnut.com/l/_lvAiki5BIpJU


Watch Video Solution

11. A glass rod P is oberserved to be attracting an ebonite rod Q , then

A. P and Q are uncharged bodies

B. both P and Q are charged with identical charge.

C. both P and Q are charged oppositely.

D. either P is charged, or Q is charged. If both are charged, they are

opposite in nature.

Answer: D

Watch Video Solution

12. An uncharged body X is brought into contact with a negatively

charged body Y, then

A. X gains negative charge.

https://dl.doubtnut.com/l/_lvAiki5BIpJU
https://dl.doubtnut.com/l/_EJSArE5X7Aww
https://dl.doubtnut.com/l/_mrr3Z6AxSYCF


B. Y loses negative charge.

C. negative charge gained by X is equal to the negative charge lost by

Y.

D. All of the above

Answer: D

Watch Video Solution

13. Which of the following is not a source of electrical energy ?

A. A cell

B. A battery

C. An electric motor

D. A generator

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_mrr3Z6AxSYCF
https://dl.doubtnut.com/l/_bPhqV8gsrt0G


14. Which of the following is a false statement about Leclanche cell ?

A. Electrolyte is a liquid.

B. Zinc rod and carbon rod acts as negative and positive electrodes.

C. It can be easily portable from place to place.

D. Dry cell is a modi�ed form of Leclanche cell.

Answer: C

Watch Video Solution

15. Which of the following is not a depolarizer ?

A. Potassium dichromate

B. Copper sulphate

C. Mercury oxide

https://dl.doubtnut.com/l/_bPhqV8gsrt0G
https://dl.doubtnut.com/l/_Uq1sqUfowY8B
https://dl.doubtnut.com/l/_yuVqSZyISg4g


D. Manganese dioxide

Answer: C

Watch Video Solution

16. Which of the following is not an electrical appliance ?

A. Washing machine

B. TV

C. Fire extinguisher

D. Water cooler

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_yuVqSZyISg4g
https://dl.doubtnut.com/l/_ifGuZJ677OR9


17. Six identical cells are connected as shown in the cir-cuit. The total e.m.f

is  

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

______

1.5V

4.5V

9V

0V

18. Which of the following statements is false about using household

electrical appliances ?

https://dl.doubtnut.com/l/_yP8mdQKEW0pg
https://dl.doubtnut.com/l/_zcMotKFBjDSK


A. Appliances with ISI mark is to be used.

B. Switches may be used with wet hands.

C. Fingers or metallic wires should not be kept in sockets.

D. To know the presence of current, tester is to be used.

Answer: B

Watch Video Solution

19. Which of the following devices does not work on the principle of

magnetic e�ects of electric current?

A. Electromagnet

B. Electric motor

C. Electric generator

D. Telegraph

Answer: C

https://dl.doubtnut.com/l/_zcMotKFBjDSK
https://dl.doubtnut.com/l/_OjXkX6z3w6j4


Watch Video Solution

20. In which of the following the priciple of 'chemical e�ect of electricity'

is not used ?

A. Telephone

B. Puri�cation of metals

C. Electroplating

D. Electro typing

Answer: A

Watch Video Solution

21. Which of the following electrical appliances works on the principle of

the magnetic e�ect of electric current ?

A. electric heater

https://dl.doubtnut.com/l/_OjXkX6z3w6j4
https://dl.doubtnut.com/l/_sGS8MV0otr71
https://dl.doubtnut.com/l/_AcuwOiEHEQCH


B. electric motor

C. electric bell

D. Both (b) and (c)

Answer: D

Watch Video Solution

22. Choose the correct statement : - 

(A) In case of an electric cell, chemical energy is converted into electrical

energy. 

(B) combination of electric cells is called battery.

A. only A is true

B. only B is true

C. Both A and B are true

D. Both A and B are false

https://dl.doubtnut.com/l/_AcuwOiEHEQCH
https://dl.doubtnut.com/l/_PUiNVvNe6w9z


Answer: C

Watch Video Solution

23. A negatively charged body is connected to the ground, then choose

the correct statement. 

(A) It becomes positively charged. 

(B) Electrons �ow from the body to the ground.

A. Only A is true

B. Only B is true

C. Both A and B are true

D. Both A and B are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_PUiNVvNe6w9z
https://dl.doubtnut.com/l/_pXcFiTOgrBB9


24. A current carrying conductor produces 

A. only heat

B. only magnetic �eld

C. Both heat and magnetic �eld

D. None of the above

Answer: C

Watch Video Solution

______

25. An electric motor converts

A. electrical energy into mechanical energy.

B. mechanical energy into electrical energy.

C. heat energy into electrical energy.

D. None of the above

https://dl.doubtnut.com/l/_7ZvR3wpnR2In
https://dl.doubtnut.com/l/_ooxq6qsCdie8


Answer: A

Watch Video Solution

26. Which of the following is a bad conductor of electricity ?

A. gold

B. copper

C. alcohol

D. living plant

Answer: C

Watch Video Solution

27. Which of the following is the symbol of a battery ?

https://dl.doubtnut.com/l/_ooxq6qsCdie8
https://dl.doubtnut.com/l/_gSFxch2CzCQN
https://dl.doubtnut.com/l/_LSQLIDVq8mPp


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

28. Unit of electromotive force is

A. volt

B. second

C. metre

D. ms
− 1

https://dl.doubtnut.com/l/_LSQLIDVq8mPp
https://dl.doubtnut.com/l/_y4pFpQTEi4RH


Answer: A

Watch Video Solution

29. The device that can be used to detect the presenceof current in a

circuit is 

A. magnetic compass

B. cell

C. an inverter

D. voltmeter

Answer: A

Watch Video Solution

_____

30. Write the following steps in sequential order to explain the working

of an electric bell. 

https://dl.doubtnut.com/l/_y4pFpQTEi4RH
https://dl.doubtnut.com/l/_zWjLhBTSSkyA
https://dl.doubtnut.com/l/_OiaQjujrps60


(A) When current passes through the coil, it behaves like a magnet and

attracts (pulls) the iron strip. 

(B) No more does not coild behave as an electromag-net and the

attraction between the coil and the iron strip is lost. Because of this the

iron strip gets back to its original position and touches the screw. 

(C ) The hammers connected to iron strip also moves and strikes the

gong because of which, sound is produced. 

(D) When the iron strip is pulled towards the coil, it loses contact with

the screw and the circuit becomes open circuit. 

(E). Once again the circuit is closed , and the above process is repeated.

A. ABCDE

B. EDCBA

C. BADEC

D. ACDBE

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_OiaQjujrps60
https://dl.doubtnut.com/l/_GZNix77XCO63


31. Write the following steps in sequential order to prove that like

charges repal each other. 

(A) Take two glass rods. 

(B) Now bring these two charged rods nearer. 

(C) Charge them by rubbing each glass rod with a silk cloth. 

(D) The glass rods equal other showing that like charges repel each other.

A. ABCD

B. ACBD

C. DCBA

D. BDAC

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_GZNix77XCO63


32. 

View Text Solution

https://dl.doubtnut.com/l/_VEWJy57JRGlE


33. 

View Text Solution

34. How many types of chrges are there and what are they ?

Watch Video Solution

35. What is an electron ?

https://dl.doubtnut.com/l/_tJwLT9s6ODC0
https://dl.doubtnut.com/l/_2dndrEYCZB3k
https://dl.doubtnut.com/l/_xOKDptyJWDzp


Watch Video Solution

36. What is an electroscope?

Watch Video Solution

37. When do we say that there is an electric current in a conductor ?

Watch Video Solution

38. What is an electric circuit ?

Watch Video Solution

39. What is a switch ?

Watch Video Solution

https://dl.doubtnut.com/l/_xOKDptyJWDzp
https://dl.doubtnut.com/l/_IQ3WIOwsXSGd
https://dl.doubtnut.com/l/_jEkI3caNtd6J
https://dl.doubtnut.com/l/_HHyai0rcLvsT
https://dl.doubtnut.com/l/_v9fXzAe3UPRk
https://dl.doubtnut.com/l/_m7vb76gzUwWf


40. Name two di�erent ways of connecting components in an electric

circuit.

Watch Video Solution

41. How many types of sokets are in use and what are they ?

Watch Video Solution

42. What is a miniature circuit breaker ? Where is it used ?

Watch Video Solution

43. What is the e.m.f of the Bichromate cell ?

Watch Video Solution

https://dl.doubtnut.com/l/_m7vb76gzUwWf
https://dl.doubtnut.com/l/_uj3WajoNYgWY
https://dl.doubtnut.com/l/_LclIT15uy88u
https://dl.doubtnut.com/l/_euFoZ6mGMxEV


44. How can we describe the force between two charged bodies ?

Watch Video Solution

45. Which charged particle is free to move within the body as well as from

one body to another body ?

Watch Video Solution

46. Distinguish between conductors and insulators.

Watch Video Solution

47. What any two sources of electrical energy.

Watch Video Solution

https://dl.doubtnut.com/l/_LPKr451EZMvl
https://dl.doubtnut.com/l/_nRQ2PshscM2j
https://dl.doubtnut.com/l/_Yr5xpDEa4lmE
https://dl.doubtnut.com/l/_0GgFa6Vhx25E


48. What is a battery ?

Watch Video Solution

49. What is an electric generator .

Watch Video Solution

50. What is 'one unit' or 'one kilowatthour' of electrical energy ?

Watch Video Solution

51. What is a fuse ?

Watch Video Solution

52. What happends when current passes through an electrolyte ?

https://dl.doubtnut.com/l/_cxnh6Cid8JFU
https://dl.doubtnut.com/l/_KgmwmohTatH3
https://dl.doubtnut.com/l/_JLjNjq6SISuw
https://dl.doubtnut.com/l/_BBNqJb3rVZBL
https://dl.doubtnut.com/l/_Ga87OyrzIa0Y


Test Your Concepts Short Answer Type Questions

Watch Video Solution

53. Why are thick wires not used in fuses ?

Watch Video Solution

1. Describe how we can charge a body by friction.

Watch Video Solution

2. Write a short note on lighting conductor.

Watch Video Solution

https://dl.doubtnut.com/l/_Ga87OyrzIa0Y
https://dl.doubtnut.com/l/_QxlCXrr7mDWg
https://dl.doubtnut.com/l/_q4zLkKwaigfW
https://dl.doubtnut.com/l/_HIMdBC3ntuG5


3. What are the precautions to be taken in using house-hold electrical

appliances?

Watch Video Solution

4. How can we charge a body by conduction ?

Watch Video Solution

5. Distiguish between open and closed circuites.

Watch Video Solution

6. Describe dry cell.

Watch Video Solution

https://dl.doubtnut.com/l/_KhWQpQywonLT
https://dl.doubtnut.com/l/_J6IM4jSRbq5R
https://dl.doubtnut.com/l/_1jZIynBeUY4X
https://dl.doubtnut.com/l/_ancgDDDz9BO3


7. Write a short note on (a)short circuit and (b) overload.

Watch Video Solution

8. Write a short note on 

overload

Watch Video Solution

9. Write the uses of electromagnets.

Watch Video Solution

10. Describe 'electroscope' and explain brie�y how it works.

Watch Video Solution

https://dl.doubtnut.com/l/_JwlS4I9Isdop
https://dl.doubtnut.com/l/_bDteWQpTWJYI
https://dl.doubtnut.com/l/_Kj9ZhYrQEGl3
https://dl.doubtnut.com/l/_h98YsmAtfty3


11. Three cells of 1.5V, 2.5V and 3.5 V, respectively, are connected in series

to form a battery. Find the e.m.f of the battery.

Watch Video Solution

12. Describe a dynamo.

Watch Video Solution

13. What is an electomagnet ? How the stregenth of the electromagnet

can be increased ?

Watch Video Solution

14. Write the major defects in Voltaic cell.

Watch Video Solution

https://dl.doubtnut.com/l/_xT5PYcbVTIpP
https://dl.doubtnut.com/l/_c03SX0eV0azj
https://dl.doubtnut.com/l/_6jVpi6XsUUDL
https://dl.doubtnut.com/l/_XVbii01sHK3F


Test Your Concepts Essay Type Questions

1. Write a note on 'electrical induction'.

Watch Video Solution

2. Describe Voltaic cell and write the major defects of it.

Watch Video Solution

3. Describe with an example 'heating e�ects of electric current'.

Watch Video Solution

4. Write a short note on electric bell.

Watch Video Solution

https://dl.doubtnut.com/l/_KWpO1Zmpi1r7
https://dl.doubtnut.com/l/_maMsBpscqrG3
https://dl.doubtnut.com/l/_nr5EUJwALIkn
https://dl.doubtnut.com/l/_6U4LVJ6r6PIa
https://dl.doubtnut.com/l/_ddOwTDJ5KvuP


Concept Application Level 1

5. What are the advantages and disadvantage of con-necting bulbs in

parallel and in series ?

Watch Video Solution

6. What is magnetic e�ect of electric current.

Watch Video Solution

7. Describe chemical e�ects of electric current with an example.

Watch Video Solution

8. Explain about Bichromate cell with a neat labelled diagram.

Watch Video Solution

https://dl.doubtnut.com/l/_ddOwTDJ5KvuP
https://dl.doubtnut.com/l/_FTsHTdHT8XZp
https://dl.doubtnut.com/l/_VclKdAp3hhuC
https://dl.doubtnut.com/l/_MAH6YNOUsPgT


1. A neutral body means a body with no charged par-ticles on it.

Watch Video Solution

2. The charged particle in an atom that contributes positive charge is

'electron'.

Watch Video Solution

3. State True or False. 

Substances which allow charges to pass through them are called

conductors.

Watch Video Solution

4. A Switch is used to make or brake an electric circuit.

Watch Video Solution

https://dl.doubtnut.com/l/_9vmd9ynKSiKy
https://dl.doubtnut.com/l/_3vdwsGFcR7r2
https://dl.doubtnut.com/l/_9sIFT6O7en8J
https://dl.doubtnut.com/l/_rmXsE58EoBdw


5. The Zinc plate in a voltaic cell is usually coated with mercury to prevent

polarization.

Watch Video Solution

6. when bulbs are conneted to the same source, the brightness of bulb

connected in series is more than the brightness of identical bulbs

connected in parallel.

Watch Video Solution

7. In household connnections, no current passes through neutral wire

when the switch is o�.

Watch Video Solution

https://dl.doubtnut.com/l/_rmXsE58EoBdw
https://dl.doubtnut.com/l/_bFZOlWAkpp8f
https://dl.doubtnut.com/l/_UT5FOsmAvJeD
https://dl.doubtnut.com/l/_irFQNk9FZHDO


8. Connecting many devies to a single socket leads to 'short circuit'

Watch Video Solution

9. Nichorome' is the material used to make heating elements.

Watch Video Solution

10. Electric bell works on 'heating e�ects of electric current'.

A. True

B. False

C. Both A and B

D. None of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Zs6ipGelgLNE
https://dl.doubtnut.com/l/_Tvtk5758Fs6D
https://dl.doubtnut.com/l/_DORibGxtDvyk


11. Atom is considered neutral because it contains an equal number of

 and  charges.

Watch Video Solution

________ ______

12.  is a major component of an electric bell.

A. Element

B. Filament

C. Electromagnet

D. Permanent magnet

Answer: C

Watch Video Solution

______

13. Nichrome is the material used to make  elements.______

https://dl.doubtnut.com/l/_DORibGxtDvyk
https://dl.doubtnut.com/l/_61zY198CaOcc
https://dl.doubtnut.com/l/_B8vqXHYfkDMX
https://dl.doubtnut.com/l/_iKKzVkOZVTvp


Watch Video Solution

14. Materials that do not allow electric charges to �ow through then are

called .

Watch Video Solution

______

15. Lightning is a nautral phenomenon involving  particles.

Watch Video Solution

_______

16. In symbolic representation of an electric cell, the longer and shorter

vertical lines represent  and  terminal, respectively.

Watch Video Solution

______ ________

https://dl.doubtnut.com/l/_iKKzVkOZVTvp
https://dl.doubtnut.com/l/_p3vz71499G0e
https://dl.doubtnut.com/l/_j9uUgdpCrnZi
https://dl.doubtnut.com/l/_CfAGNOWpbVrK


17. Mercury coated on zinc plate prevents the impuri-ties from coming

into contact with acid and prevents .

Watch Video Solution

______

18.  is a safety device that prevents excess �ow of current through

an appliance.

Watch Video Solution

_____

19. When bulbs are connected to the same source, the brightness of bulb

connected in parallel is  then the brightness of identical bulbs

connected in series.

Watch Video Solution

________

20. Electric heater works on the basis of  the electric current._______

https://dl.doubtnut.com/l/_m9LcrIOYrE65
https://dl.doubtnut.com/l/_6WsrGsbpKnYP
https://dl.doubtnut.com/l/_rc5C3A9BcRQ3
https://dl.doubtnut.com/l/_eHTcwurOzYLB


A. Magnetic

B. Heating

C. Electrical

D. Mechanical

Answer: B

Watch Video Solution

21. If a glass rod is positively charged, then it consists of particles with

A. only positive charge.

B. only negative charge.

C. both negative and positive charges, but the number of positively

charged particles are more than the number of negatively charged

particles.

https://dl.doubtnut.com/l/_eHTcwurOzYLB
https://dl.doubtnut.com/l/_yAVcrLn2lRzb


D. both negative and positive charges but the number of negatively

charged particles are more than the number of positively charged

particles.

Answer: C

Watch Video Solution

22. A body can be charged by

A. friction

B. induction

C. conduction

D. All of the above

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_yAVcrLn2lRzb
https://dl.doubtnut.com/l/_qb7dmHnATjzb
https://dl.doubtnut.com/l/_ydvU1yAcD2nN


23. Which of the following is not a consumer of electrical energy ?

A. A generator

B. An electric motor

C. An electromagnet

D. A bulb

Answer: A

Watch Video Solution

24. Find the false statement about a cell.

A. Symbol of a cell is 

B. Longer line represents positive terminal.

C. Shorter line represents negative terminal.

D. Cell is a major source of electrical energy.

https://dl.doubtnut.com/l/_ydvU1yAcD2nN
https://dl.doubtnut.com/l/_VICvIENUtJKe


Answer: D

Watch Video Solution

25. Three identical cells of e.m.f.  are connected in parallel. The total

e.m.f. of the combination is .

A. 

B. 

C. 

D. 3

Answer: A

Watch Video Solution

1.5V

_____

1.5

4.5

0.5

26. Three bulbs are connected in a circuit in an identi-cal way. When a

fourth bulb is also connectedto the same circuit in the same way,

https://dl.doubtnut.com/l/_VICvIENUtJKe
https://dl.doubtnut.com/l/_8kiUFCi6WJXl
https://dl.doubtnut.com/l/_rRJBjMR9s5Y5


brightness is reduced then the bulbs are connected in 

A. series

B. parallel

C. It can happen in both cases

D. It is not possible

Answer: A

Watch Video Solution

________

27. How many hours must a 200 W bulb glow to con-sume 1 unit electrical

energy.

A. 1

B. 2

C. 5

D. 10

https://dl.doubtnut.com/l/_rRJBjMR9s5Y5
https://dl.doubtnut.com/l/_6Kw3viXk5KIw


Answer: C

Watch Video Solution

28. The amount of heat produced in a heating element depends on

A. its length

B. its cross-sectional area

C. nature of the material

D. All of the above

Answer: D

Watch Video Solution

________

29. Which of the following statement is /are true about electromagnet ?

https://dl.doubtnut.com/l/_6Kw3viXk5KIw
https://dl.doubtnut.com/l/_61pJz4jXTBbV
https://dl.doubtnut.com/l/_JhbK7DggPkZj


A. It works on the principle of 'magnetic e�ects of electric current'.

B. Electromagnets are used in electric bell.

C. Electromagnets are used to lift heavy loads.

D. All of the above

Answer: D

Watch Video Solution

30. A neutral body gets charged when it brought into contact with a

charged body. This method of charg-ing a body is called.

A. charging by conduction

B. charging by friction

C. charging by Induction

D. None of the above

Answer: A

https://dl.doubtnut.com/l/_JhbK7DggPkZj
https://dl.doubtnut.com/l/_rx2O37E2vAGl


Watch Video Solution

31. Which of the following electrical appliances work on the principal of

the heating efect of electric current ?

A. Electric iron

B. Electric heater

C. Electric bulb

D. All of the above

Answer: D

Watch Video Solution

32. Choose the correct statement(s) in case of a voltric cell. 

(A) Cathode used is Zn and anode used is copper. 

(B) The electrolyte used is dilute sulphuric acid.

https://dl.doubtnut.com/l/_rx2O37E2vAGl
https://dl.doubtnut.com/l/_d5FRsauY818E
https://dl.doubtnut.com/l/_FrQQmwMJc3E6


A. Only A is true

B. Only B is true

C. Both A and B are true

D. Both A and B are false

Answer: C

Watch Video Solution

33. Choose the correct statement : 

When a positively charged body is placed on the ground. 

(A) the electrons �ow from the ground and neutral-ize the charge. 

(B) the electrons �ow from the ground and charge it negatively.

A. only A is true

B. only B is true

C. Both A and B are true

D. Both A and B are false

https://dl.doubtnut.com/l/_FrQQmwMJc3E6
https://dl.doubtnut.com/l/_SBe4LIuFRcfd


Answer: A

Watch Video Solution

34. A magnetic needle placed near a current carrying conductor de�ects

due to the

A. heating e�ect of electric current.

B. magnetic e�ect of electric current.

C. chemical e�ect of electrical current.

D. Both (b) and (c)

Answer: B

Watch Video Solution

35. An electric generator (Dynamo) converts

https://dl.doubtnut.com/l/_SBe4LIuFRcfd
https://dl.doubtnut.com/l/_R0WKBc1hhOSc
https://dl.doubtnut.com/l/_dAJ6EvXUD3bR


A. mechanical energy into electrical energy.

B. electrical energy into mechanical energy.

C. chemical energy into electrical energy.

D. chemical energy into mechanical energy.

Answer: A

Watch Video Solution

36. Which of the following is a good conductor of electricity.

A. impure water

B. glass

C. ebonite

D. wood

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_dAJ6EvXUD3bR
https://dl.doubtnut.com/l/_Fz1KI5QoEoMG


37. Which of the following is the symbol of fuse?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

38. The commercial unit of electrical energy is ________

https://dl.doubtnut.com/l/_Fz1KI5QoEoMG
https://dl.doubtnut.com/l/_0fMZgdGMQaks
https://dl.doubtnut.com/l/_cs3wLIEFkt0u


A. Wh

B. kWh

C. Joule

D. None of these

Answer: B

Watch Video Solution

39. The bulbs in houses are connected in

A. parallel combination.

B. series combination.

C. series and parallel.

D. neither in series nor in parallel.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_cs3wLIEFkt0u
https://dl.doubtnut.com/l/_K5KQNUhMiWZV


40. The device used to measure electric current in a cir-cuit is called 

A. speedometer

B. ammeter

C. voltmeter

D. kilowatt hour meter

Answer: B

Watch Video Solution

_____

41. Arrange the following steps in sequential order to demonstrate the

magnetic e�ect of the elctric cur-rent using magnetic compass. 

(A) Wind an insulated conducting wire around the magnetic compass

such that the axis of the coil is directed along east west direction and

con-nect the free ends of the wire to a cell through a switch. 

(B) Take a magnetic compass. 

https://dl.doubtnut.com/l/_K5KQNUhMiWZV
https://dl.doubtnut.com/l/_dHy5RUBvypJd
https://dl.doubtnut.com/l/_vvF7iTyv9Z30


(C ) When current �ows through the conducting wire, it behaves as a

magnet and de�ects the compass needle. 

(D) When the switch is closed, the magnetic nee-dle in the compass

de�ects from its initial posi-tion and when the switch is opend, the needle

comes back to its initial position.

A. BADC

B. CBAD

C. ACBD

D. ABCD

Answer: A

Watch Video Solution

42. Two electric bulbs of 100 W each is used for 10 hours in the month of

June. Write the following steps in sequential order to �nd the numbe of

units of electricity consumed in the month of June. 

(A) The number of units of electricity consumed by both bulbs in the

https://dl.doubtnut.com/l/_vvF7iTyv9Z30
https://dl.doubtnut.com/l/_L8iFce7cyzJG


month of June is the total elec-trical energy consumed by bulbs expressed

in W h divided by 100 W h . 

(B) Note the rated power of each electric bulb, time of electrical

consumption of each bulb per day from the given data. 

(C ) We know, one electrical unit  or . 

(D) Calculate the amount of electrical energy con-sumed by both the

bulbs in the month of June using, (sum of the electrical power of both the

bulb)  (time of consumption in one day)  days.

A. BACD

B. ABCD

C. BDCA

D. DCBA

Answer: C

Watch Video Solution

= 1kWh 1000Wh

× × 30

https://dl.doubtnut.com/l/_L8iFce7cyzJG


43. Match the following 

Watch Video Solution

https://dl.doubtnut.com/l/_bU9AMF16LkAm


Concept Application Level 2

44.   

View Text Solution

1. Three batteries are connected as shown in the �gure. 

Then the total emf in the circuit is  V. ____

https://dl.doubtnut.com/l/_BTRp6yDZoaRu
https://dl.doubtnut.com/l/_4HeBeXJawczB


A. 3

B. 4

C. 7

D. 14

Answer: C

Watch Video Solution

2. Three identical bulbs are connected as shown in �g-ure. Choose the

correct statement. 

https://dl.doubtnut.com/l/_4HeBeXJawczB
https://dl.doubtnut.com/l/_dij3tOS1uOLs


A. All bulbs are in a series combination.

B. If bulb R is removed, bulbs P and Q will still glow.

C. The total e.m.f in the circuit is 40 V.

D. The given circuit is an open circuit.

Answer: A

Watch Video Solution

3. A positively charged body is brought in contact with the cap of gold

leaf electroscope. Whose strips are netural , then

https://dl.doubtnut.com/l/_dij3tOS1uOLs
https://dl.doubtnut.com/l/_IAwe1Au6HpAG


A. positive charge �ows from the body to the strips and both the

strips acquire positive charge.

B. due to like charges on strips, they attract each other.

C. if a positively charged body is removed the gap between the strips

decreases.

D. Both (a) and (c).

Answer: A

Watch Video Solution

4. Choose the correct statement: 

When the same current(i) �ows through tow circuits as shown in the

�gures, then (assume that all bulbs are identical) 

(A) bulbs in �rst combination glow with more brightness. 

(B) bulbs in second combination glow with more brightness. 

https://dl.doubtnut.com/l/_IAwe1Au6HpAG
https://dl.doubtnut.com/l/_rWpE6yLiiajU


(C) bulbs in both the combination glow with equal brightness. 

A. Only A is true

B. Only B is true

C. Both A and B are true

D. Cannot be determined

Answer: A

Watch Video Solution

5. A glass rod is rubbed against a silk cloth, then

A. the glass rod acquires a positive charge due to loss of electrons.

https://dl.doubtnut.com/l/_rWpE6yLiiajU
https://dl.doubtnut.com/l/_pGyV6nnGKKbk


B. the silk cloth acquires negative charge due to gain of electrons.

C. if these two bodies are again brought in contact the net charge on

them is zero.

D. All of the above

Answer: D

Watch Video Solution

6. A magnet is brought close to a current carrying conductor as shown in

�gure, then 

https://dl.doubtnut.com/l/_pGyV6nnGKKbk
https://dl.doubtnut.com/l/_rGFsZHASNmVZ


A. it will be repelled by the conductor.

B. it will be attracted by the conductor.

C. it will not show any e�ect.

D. it will be just de�ected.

Answer: D

View Text Solution

7. Three dry cells are connected as shown in the

 �gure. If e.m.f

of each cell is 2 V, then the e.m.f. of the combination is  V.

A. 2

B. 6

C. 3

_____

https://dl.doubtnut.com/l/_rGFsZHASNmVZ
https://dl.doubtnut.com/l/_9OqoasxWOXRb


D. 4

Answer: B

Watch Video Solution

8. Choose the correct statement about the given circuit: Three identical

bulbs are connected as shown in the �gure. 

A. Bulbs A and B are in parallel with bulb 'C'.

B. The potential (e.m.f) in the circuit is 60 V.

https://dl.doubtnut.com/l/_9OqoasxWOXRb
https://dl.doubtnut.com/l/_7CICEmCNGCdn


C. When switch 'S' is turned o� all bulbs glow with the same

brightness.

D. Both (a) and (b)

Answer: D

Watch Video Solution

9. When a positively charged and another negtively charged bodies with

equal magnitude of charge are brought simultaneously in contact with

the cap of a positively charged electroscope, then the strips

A. move apart.

B. come closer.

C. remains une�ected.

D. Cannot be determined

Answer: B

https://dl.doubtnut.com/l/_7CICEmCNGCdn
https://dl.doubtnut.com/l/_oUfoRkoHon9g


Watch Video Solution

10. When a neutral body is brought closer to a negatively charged body,

then

A. it becomes positively charged.

B. the net charge on it is zero.

C. it consists of equal positive and negative charge.

D. Both (b) and (c)

Answer: D

Watch Video Solution

11. What happens when a current carrying metallic comb is placed close

to small iron �lings?

A. iron �lings will �y away from the comb, when switch is turned o�.

https://dl.doubtnut.com/l/_oUfoRkoHon9g
https://dl.doubtnut.com/l/_Wcnj7mHGSaq9
https://dl.doubtnut.com/l/_gn7FT5IOftlI


B. iron �lings align in the direction of the magnetic �eld produced

around the metallic comb.

C. iron �lings will be attracted by the comb.

D. Both (b) and (c)

Answer: B

Watch Video Solution

12. (a) Two charged bodies, A and B are suspended from a �xed point with

the help of silk threads as shown in the �gure. If A is positively charged

can we identify the nature of charge on 'B' ? 

  

(b) A negatively charged conducting sphere A and a neutral sphere B are

https://dl.doubtnut.com/l/_gn7FT5IOftlI
https://dl.doubtnut.com/l/_nOUxKfDbuk4p


kepton insulating stands and brought cose to each other. The charge

distri-bution is as shown in the �gure. 

Is B charged ? What type of force exists between A and B ?

Watch Video Solution

13. Raghavan found a metallic rod AB and a glass rod CD both positively

charged and placed on an insulat-ing table. He wanted to know what

would happen to the charges on AB and CD if he touched both the rod at

A and C ? Discuss. 

Watch Video Solution

14. Two identical, small metallic shpheres A and B are placed side by side

on an insultaing smooth table as shown in the �gure. If A is positively

https://dl.doubtnut.com/l/_nOUxKfDbuk4p
https://dl.doubtnut.com/l/_xVedAnpgspSo
https://dl.doubtnut.com/l/_ziXM218AeOLG


charged and held �xed with the table , discuss the motion of B. 

Watch Video Solution

15. Observe the circuit and state whether the cells are connected in series

or parallel. If each cell is of e.m.f. , then �nd the total e.m.f applied

across the bulb connected. 

Watch Video Solution

1.5V

https://dl.doubtnut.com/l/_ziXM218AeOLG
https://dl.doubtnut.com/l/_2q8jwBqioce3


16. Three identical cells of e.m.f.  are given. Find how we can arrange

them to get a total e.m.f. of 

(a) , (b) , (c ) .

Watch Video Solution

1.5V

1.5V 3V 4.5V

17. Prahar took two identical heating elements and con-nected them to a

battery in two di�erent ways as shown in the �gure. When he switched

ON the switch, is the heat developed in each element the same or

di�erent in both the cases ? 

Watch Video Solution

https://dl.doubtnut.com/l/_2q8jwBqioce3
https://dl.doubtnut.com/l/_pvLQ7TDt0ygl
https://dl.doubtnut.com/l/_D6M0QTEyIjTP


18. Identify whether the following circuits are open or closed. 

View Text Solution

19. What is the nature of materials used to make the '�lament' of an

electric bulb and the 'fuse wire' used in electric fuse ? Compare them.

Watch Video Solution

20. De�ne live and neutral wires.

https://dl.doubtnut.com/l/_Y545QMpm64p2
https://dl.doubtnut.com/l/_eWjwDZmcQ009
https://dl.doubtnut.com/l/_hv7Q367C4B9H


Watch Video Solution

21.

https://d10lpgp6xz60nq.cloudfront.net/physics_images/PAT_CHE_0XI_B05_C11_

Watch Video Solution

22. We observe the bulb glowing when the switch is 'ON'. Can we

conculde that charges instantly move from the 'switch' to the bulb ?

Discuss.

Watch Video Solution

23. What is a depolarizer and how does it work ?

Watch Video Solution

https://dl.doubtnut.com/l/_hv7Q367C4B9H
https://dl.doubtnut.com/l/_IjmRi434BjTe
https://dl.doubtnut.com/l/_V5MzuLWts4lk
https://dl.doubtnut.com/l/_TTQBhnUXmLeH


24. Gourang made an electric circuit with three bulbs  and  a

cell and two switches  and  as shown in �gure. He notes his

observation when 

  

(a)  is closed and  is open,  

(b)  is closed and  is open.  

He also found that a bulb whose failure made the circuit 'open'

irrespective of the status of  and  . What are his observation.

Watch Video Solution

B1, B2 B3

S1 S2

S1 S2

S2 S1

S1 S2

https://dl.doubtnut.com/l/_4QGEabSyWOUr
https://dl.doubtnut.com/l/_PV7CfDstDXkV


25. Saket was repairing an electric bell. By mistake, instead of an

electromagnet, he placed a permanent magnet in the electric bell.

Explain, what changes do you observe.

Watch Video Solution

26. Ravinder was inspired by reading the autobiography of Thomas Alva

Edison and changed a portion of his room into a laboratory. In his

laboratory he per-formed and activity that demonstrates both 'heating

e�ect' and 'magnetic e�ect' of electric current. He connected di�erent

components with di�erent wires and the connections are represented by

the following circuit diagram. 

To his disappointment, he was not successful in his e�ort. Observe the

https://dl.doubtnut.com/l/_PV7CfDstDXkV
https://dl.doubtnut.com/l/_uOLHKMY69JG7


Concept Application Level 3

circuit and suggest modi�cations to make his e�ort successful. 

Watch Video Solution

1. Describe the electrostatic force that exists between A and B in the

following cases. 

https://dl.doubtnut.com/l/_uOLHKMY69JG7
https://dl.doubtnut.com/l/_zkO79qJvqKb9


View Text Solution

https://dl.doubtnut.com/l/_zkO79qJvqKb9


2. We know that (a) like electrical charges repel each other and (b)

substances which allow charges to move through them are called

conductors. In the light of these facts, �nd where the charge placed on a

conductor resides.

Watch Video Solution

3. A and B are two identical conducting rods. A is given positive charge

and B is connected to a cell as shown in the �gure. Will there be any

change in the electrostatic force between A and B if the switch is closed ? 

Watch Video Solution

https://dl.doubtnut.com/l/_zkO79qJvqKb9
https://dl.doubtnut.com/l/_Lf9m0pZWu2NG
https://dl.doubtnut.com/l/_g5X8aohJrOMO


4. With the help of an electroscope, how can we iden-tify the presence

and nature of charge on a body?

Watch Video Solution

5. Three identical cells  and three identical bulbs 

 are connected as shown in the circuit. 

Find how  are connected, whether in parallel

or in series?

View Text Solution

E1, E2, E3

B1, B2 and B3

E1, E2, E3 and B1, B2, B3

6. Three identical cells  and three identical bulbs 

 are connected as shown in the circuit. 

E1, E2, E3

B1, B2 and B3

https://dl.doubtnut.com/l/_g5X8aohJrOMO
https://dl.doubtnut.com/l/_0UQk7KfO3vU5
https://dl.doubtnut.com/l/_BcxrNntlaVVe
https://dl.doubtnut.com/l/_MgGoNwxJ2jrL


Compare the brightness of the bulbs. 

View Text Solution

7. Usually we use two di�erent types of sockets (a) two-pin socket and (b)

three-pin socket. What purpose does the thrid pin in a three-pin socket

serve ?

Watch Video Solution

https://dl.doubtnut.com/l/_MgGoNwxJ2jrL
https://dl.doubtnut.com/l/_3WUBsQnfM4vj


8. Pranith recived an electric bill for the month of April. He started

verifying it by calculating the electrical energy consumed by a 2000 W

electrical appliance that is used for two hours every day in his workshop.

In his house he used bulbs of 100 W for 4 hours every day in the month of

april, which con-sumes the same electrical energy as that of the elec-trical

appliance in the work shop. Find the number of bulbs Panith uses in his

house.

Watch Video Solution

9. Which e�ect of electricity is used in electrotype set-ting ? Discuss.

Watch Video Solution

10. Do all bulbs we use work on the principle of heating e�ects of electric

current ? Discuss.

Watch Video Solution

https://dl.doubtnut.com/l/_3WUBsQnfM4vj
https://dl.doubtnut.com/l/_x9qAkoK1NXLZ
https://dl.doubtnut.com/l/_tCfOVcbVMn1B
https://dl.doubtnut.com/l/_eKsUB1INegV8


Assessment Test Test 1

Watch Video Solution

11. What make electrical energy so useful for mankind ?

Watch Video Solution

1. Write the following steps in sequence that explains the charging of a

body by conduction. (A) Bring this positively charged glass rod in contact

with a (neutral) uncharged metallic body, because of this the metallic

body also becomes positively charged. (B) Take a glass rod and rub it with

silk cloth. (C) Some electrons move from the glass rod to the silk cloth

because of this the glass rod becomes positively charged.

A. ABC

B. BCA

C. ACB

https://dl.doubtnut.com/l/_eKsUB1INegV8
https://dl.doubtnut.com/l/_8OarV4l4CUhY
https://dl.doubtnut.com/l/_a26RcBc1RANu


D. BAC

Answer: B

View Text Solution

2. Write the following steps in sequence to show that the like charges

repel each other. (A) Rubbing both the glass rods with cotton cloth

develops the same type of charge on them. (B) Take two glass rods and

charge both the rods by friction. (C) Suspend both the glass rods with the

help of two silk threads and bring them nearer. (D) The glass rods repel

each other showing that like charges repel each other.

A. ABCD

B. DCBA

C. BACD

D. BADC

Answer: C

https://dl.doubtnut.com/l/_a26RcBc1RANu
https://dl.doubtnut.com/l/_NFd2IAh67sVY


View Text Solution

3. Indentify the correct statement/s related to local action in a voltaic cell.

(a) Carbon and iron particles present in zinc plate act as impurities. 

(b) Impurities react with acid and with the zinc par-ticles to form a large

number of tiny cells creat-ing local electric circuits.

A. Only (A) is true.

B. Only (B) is true.

C. Both (A) and (B) true.

D. Both (A) and (B) are false.

Answer: C

Watch Video Solution

4. A glass rod is rubbed against a silk cloth, then

https://dl.doubtnut.com/l/_NFd2IAh67sVY
https://dl.doubtnut.com/l/_JgZsVYhNnyKK
https://dl.doubtnut.com/l/_0GK72LpUGyBf


A. the glass rod acquires a positive charge due to loss of electrons.

B. the silk cloth acquires negative charge due to gain of electrons.

C. if these two bodies are again brought in contact the net charge on

them is zero.

D. All of the above

Answer: D

Watch Video Solution

5. Assertion (A): A 200 W bulb consumes 2 units of electrical energy when

it is used for 10 hours. 

Reason (R): 1 unit of electrical energy = 1000 k Wh .

A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true, but R is not the correct explanation of A.

C. A is true but R is false.

D. Both A and R are false.

https://dl.doubtnut.com/l/_0GK72LpUGyBf
https://dl.doubtnut.com/l/_tpwVyI87zGiG


Answer: C

Watch Video Solution

6. Assertion (A) : All the bulbs connected in parallel glow brightly. 

Reason (R) : All the bulbs are connected directly to a battery and derive

the required electrcial energy.

A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true, but R is not the correct explanation of A.

C. A is true but R is false.

D. Both A and R are false.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_tpwVyI87zGiG
https://dl.doubtnut.com/l/_gEAvw5a4rTMg


7. 

View Text Solution

8. Three identical bulbs are connected as shown in �g-ure. Choose the

correct statement. 

https://dl.doubtnut.com/l/_rRcOfu7RXTMG
https://dl.doubtnut.com/l/_xO2he0vKASYp


A. All bulbs are in a series combination

B. If bulb R is removed, bulbs P and Q will still glow.

C. The total e.m.f in the circuit is 40 V.

D. The given circuit is a closed circuit.

Answer: A

Watch Video Solution

9. Choose the correct statement(s) in case of a voltric cell. 

(A) Cathode used is Zn and anode used is copper. 

https://dl.doubtnut.com/l/_xO2he0vKASYp
https://dl.doubtnut.com/l/_DpmsYkWo7W3k


(B) The electrolyte used is dilute sulphuric acid.

A. Only (A) is true.

B. Only (B) is true.

C. Both (A) and (B) are true.

D. Both (A) and (B) are false.

Answer: C

Watch Video Solution

10. The porous pot in Leclanche cell contains  with a carbon rod

dipped in it.

A. potassium dichromate and dilute sulphuric acid.

B. chemical mixture of ammonium chloride, zinc chloride with

manganese dioxide and powdered carbon present in form of paste.

C. powdered carbon and manganese dioxide.

_____

https://dl.doubtnut.com/l/_DpmsYkWo7W3k
https://dl.doubtnut.com/l/_SptVlQJjRNqq


D. dilute sulphuric acid.

Answer: C

Watch Video Solution

11. Which of the following is a bad conductor of electricity ?

A. Gold

B. Copper

C. Pure alcohol

D. Living plant

Answer: C

Watch Video Solution

12. An electric motor converts

https://dl.doubtnut.com/l/_SptVlQJjRNqq
https://dl.doubtnut.com/l/_B8cDedfnt3bZ
https://dl.doubtnut.com/l/_y22CkuXD0NMm


A. electrical energy into mechanical energy.

B. mechanical energy into electrical energy.

C. heat energy into electrical energy.

D. None of the above.

Answer: A

Watch Video Solution

13. What happens when a current carrying metallic comb is placed close

to small iron �lings?

A. iron �lings will �y away from the comb, when switch is turned o�.

B. iron �lings align in the direction of the magnetic �eld produced

around the metallic comb.

C. iron �lings will be attracted by the comb.

D. Both (b) and (c).

https://dl.doubtnut.com/l/_y22CkuXD0NMm
https://dl.doubtnut.com/l/_Tr5XB7IzXu31


Answer: B

Watch Video Solution

14. Assertion (A): A 200 W bulb consumes 2 units of electrical energy

when it is used for 10 hours. 

Reason (R): 1 unit of electrical energy = 1000 k Wh .

A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true, but R is not the correct explanation of A.

C. A is true but R is false.

D. Both A and R are false.

Answer: A

Watch Video Solution

15. A glass rod is rubbed against a silk cloth, then

https://dl.doubtnut.com/l/_Tr5XB7IzXu31
https://dl.doubtnut.com/l/_PwnDwlykzCFw
https://dl.doubtnut.com/l/_zNb1qI3kCsyf


Assessment Test Test 2

A. the glass rod acquires a positive charge due to loss of electrons.

B. the silk cloth acquires negative charge due to gain of electrons.

C. if these two bodies are again brought in contact, the net charge on

them is zero.

D. All of the above

Answer: D

Watch Video Solution

1. Write the following steps in sequence that explain the phenomenon of

redistribution of charges in an uncharged body in presence of a charged

body. (A) As a result, at one end of the neutral body there is an excess of

negatively charged particles and the other end there is an excess of

positively charged particles. (B) Place a positively charged body near a

https://dl.doubtnut.com/l/_zNb1qI3kCsyf
https://dl.doubtnut.com/l/_0L9rqfBNzTMC


neutral body. (C) The negatively and positively charged particles in the

neutral body get attracted and repelled by the positively charged body.

A. BCA

B. CAB

C. ACB

D. BAC

Answer: A

View Text Solution

2. Write the following steps in sequence to shows that the unlike charges

attract each other. 

(A) Take an ebonite rod and a glass and tie two silk threads so that they

can be suspended. 

(B) The glass rod and ebonite rod when brought near attract each other

showing that charges attract each other. 

https://dl.doubtnut.com/l/_0L9rqfBNzTMC
https://dl.doubtnut.com/l/_ffdzSucgyizP


Rub ebonite rod with woollen cloth and glass rod with silk cloth and

suspend tem in air by holding silk threads.

A. ACB

B. CBA

C. BCA

D. ABC

Answer: A

Watch Video Solution

3. Identify the correct statement/s related to polarization in voltraic cell. 

(a) When current passes through the voltaic cell, zinc plate starts

dissolving in the acid and pro-duces hydrogen bubbles. 

(b) These hydrogen bubbles accumulate on the cop-per plate and develop

resistance to the �ow of current.

A. Only (A) is true.

https://dl.doubtnut.com/l/_ffdzSucgyizP
https://dl.doubtnut.com/l/_hE6WNrW4lGBU


B. Only (B) is true.

C. Both (A) and (B) are true.

D. Both (A) and (B) are false.

Answer: C

Watch Video Solution

4. When a neutral body is brought closer to a negatively charged body,

then

A. it becomes positively charged.

B. the net charge on it is zero.

C. it consists of equal positive and negative charge.

D. Both (b) and (c).

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_hE6WNrW4lGBU
https://dl.doubtnut.com/l/_aUC6t2pgGYev


5. Assertion (A) : The electrical appliances connected in series do not work

to their full capacity. 

Reason (R ) : The electrical energy drawn from the battery is shared by all

the appliances connected in series.

A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true, but R is not the correct explanation of A.

C. A is true but R is false.

D. Both A and R are false.

Answer: A

Watch Video Solution

6. Assertion (A): A 1000 W bulb when used for 1 hour consumes the same

number of electrical units as that of 100 W bulb that is used for 10 hours. 

https://dl.doubtnut.com/l/_aUC6t2pgGYev
https://dl.doubtnut.com/l/_1h1w0NV6KR3p
https://dl.doubtnut.com/l/_YruDUmMPMnlw


Reason (R ) : On electrical unit is charged when one kilowatt hour

electrical energy is consumed.

A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true, but R is not the correct explanation of A.

C. A is true but R is false.

D. Both A and R are false.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_YruDUmMPMnlw


7. 

View Text Solution

8. Choose the correct statement about the given circuit: Three identical

bulbs are connected as shown in the �gure. 

https://dl.doubtnut.com/l/_PDhUhCisSpLj
https://dl.doubtnut.com/l/_nW6aBFWrQro9


A. Bulbs A and B are in parallel with bulb C.

B. The potential (e.m.f) in the circuit is 60 V.

C. When switch 'S'is turned on all bulbs glow with the same

brightness.

D. Both (a) and (b).

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_nW6aBFWrQro9
https://dl.doubtnut.com/l/_xwlmOYkSOS8Y


9. Choose the correct statement : - 

(A) In case of an electric cell, chemical energy is converted into electrical

energy. 

(B) combination of electric cells is called battery.

A. Only (A) is true.

B. Only (B) is true.

C. Both (A) and B are true,

D. Both (A) and (B) are false.

Answer: C

Watch Video Solution

10. The brass of cap of the carbon and the zinc can of the dry cll act as

 and  poles, respectively.

A. positive, negative

_______ ______

https://dl.doubtnut.com/l/_xwlmOYkSOS8Y
https://dl.doubtnut.com/l/_6zfj0UzFa0GS


B. positive, positive

C. negative, positive

D. negative, negative

Answer: A

Watch Video Solution

11. Which of the following is not a bad conductor of electricity?

A. impure water

B. Glass

C. Ebonite

D. Wood

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_6zfj0UzFa0GS
https://dl.doubtnut.com/l/_C6d5y0GeAQ7L
https://dl.doubtnut.com/l/_2KcYbMixK4Hc


12. An electric generator (Dynamo) converts

A. mechanical energy into electrical energy.

B. electrical energy into mechanical energy.

C. chemical energy into electrical energy.

D. chemical energy into mechanical energy.

Answer: A

Watch Video Solution

13. A magnet is brought close to a current carrying conductor, as shown

in �gure, then, 

https://dl.doubtnut.com/l/_2KcYbMixK4Hc
https://dl.doubtnut.com/l/_XwoajKo0jnlh


A. it will be repelled by the conductor.

B. it will be attracted by the conductor.

C. it will not show any e�ect.

D. it will be just de�ected.

Answer: D

View Text Solution

14. Choose the correct statement: 

When the same current (i) �ows through two circuits as shown in the

https://dl.doubtnut.com/l/_XwoajKo0jnlh
https://dl.doubtnut.com/l/_nhgNVjZyzloF


�gures then(assume that all bulbs are identical ) 

A. Only (A) is true

B. Only (B) is true

C. Only (C) is true

D. Cannot be determined

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_nhgNVjZyzloF


15. When a neutral body is brought closer to a negatively charged body,

then

A. it becomes positively charged.

B. the net charge on it is zero.

C. it consists of equal positive and negative charge.

D. Both (b) and (c).

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_UGO1hgaZYk9t

